I udten weldt
\l National Testing Agency

Test Date : 21 reb 2023 Test Slot : siot 1

Subject : 35-Manipuri

Sl. No.1
QBID:135001

“GISTOIR (ARUNIS DRI
BINE W23 DO
QLA FTRG AP
TITNH (HSTABT

NI ATA:1s =7 ream:

1. SRS

2. (A2 TN EF
3, I ANGH
4 RomfRane [«

11
(2) 2
(3) 3
(4) 4

MO0 RERDE BOWE
BRREC TA U3 B I T
NE-E 2% BIMTTIT

AR RIOD s~

RIIrm’ macfm wot dEzar:

. TAIEE

. VR CRTT

.97 BRI

. Atee Atd's Ll
1) 1

(2) 2

(3) 3

4) 4

[V I S T

.

1[Option ID=1401]
2[Option ID=1402]
3[Option ID=1403]
4[Option ID=1404]

Sl. No.2
QBID:135002

(1% D3N AR 3l
LG (M I°
NR! AR =T r83m:

1. 35
(AT

-
3. AN

4. (ool 5% 1
(1) 1

(2) 2

(3) 3

(4) 4




‘REEAT THRCC
7] B 20T TE
Yo @

wLmmt meeofm weot EEat

1[Option ID=1405]
2[Option ID=1406]
3[Option ID=1407]
4[Option ID=1408]

Sl. No.3
QBID:135003

(1S BRO YNNG AT SN AF ST S2AT (A TS SITAMI (FIICA NCHRASN AR ZTNIAP T AR
1. AN (AP IR

CeTes CAT=PIS STl

b2

3. (el NI @SN

4. YN AP ]
1) 1
2) 2
3) 3
(4) 4

COR RIO%E 0a Wela T (93 ST 200 $ikla es W'3a"E PRBCrH Sk
VRCTAL: | IR AIN AR

. TmmE Rt R

. CUU Y'CEN WR'TE

. drm RO EwEm

. WRTWD 2mm gl
)1

(2 2

(3) 3

(@) 4

L o =

.

1[Option ID=1409]
2[Option ID=1410]
3[Option ID=1411]
4[Option ID=1412]

Sl. No.4
QBID:135004

< (PTLETNT 2T ST N ST A1

WCNGISIG]

2. ANGIRSTAT: T FIEI
3. BIACAT

4. (T AR 2a A

1)1




) 2
3) 3
(4) 4

er R 257 OrmRof REE anaf it

. FemeE™T

. USTfOR’D ERET B3

. RECE™T

. INeE 32 Atee ot
11

(2) 2

(3) 3

4 4

S R

=

1[Option ID=1413]
2[Option ID=1414]
3[Option ID=1415]
4[Option ID=1416]

Sl. No.5
QBID:135005

(AL BIRCRILAT| (Bl ONHI AR (GFOR |
(A TOeTSFFT (BT Fofma=I=T CAITHAL
NG A WS M8 aEfdfe:

1. o o=
2. SANNE
3, g &Y 12g N
4. BICAI: NP NI o124 [N {1
1) 1
(2) 2
(3) 3
4) 4

TEE WEA'TZ I TS XFA B ReTucom i

EEt Rtarrrre 7ewre "afere womrae
FELmmt me-mefm weof 258 2nafmat:

1. ootz comzmet
2. ctmet
3. arees 2x% tfog
4, a0 rEA@RE: 25E CIOE ot
1) 1
) 2
(3 3
4) 4
1[Option ID=1417]
2[Option ID=1418]

3[Option ID=1419]
4[Option ID=1420]

Sl. No.6
QBID:135006

SIS (MA@~ “IFA2 9 2N Se=am:
1. YA

PRVCEEIRY
3, A®FTY
4. 7% (FICAGrE M|

1) 1
) 2




3) 3
4) 4

TR Wt 250 “EfedE e sRierwlE wosat:

. et

. RABEH

. MR

.23 WELZFE udl
1) 1

() 2

(3) 3

(4) 4

b b =

=

1[Option ID=1421]
2[Option ID=1422]
3[Option ID=1423]
4[Option ID=1424]

Sl. No.7
QBID:135007

FHBIS N NHIEJLTST ATRIS *TYZ&I N SIrorer Nivsm:

. ARBIIN
foerear
SIS
4. CPOIGSTAT ol

(1) 1
) 2
(3) 3
(4) 4

regamia it kR BE00 ZTmia5t Ik ATcEm T Tom Rl mat:

L O B

B i14ii{aslcd

. Zfe w8

i a1

. BeEon ot
1) 1

(2 2

3) 3

4) 4

S e

1[Option ID=1425]
2[Option ID=1426]
3[Option ID=1427]
4[Option ID=1428]

Sl. No.8
QBID:135008

W12 FH Bl TR S5 6T NS ©IE: WA VI
ERE IR ERERIRSIGIERIC

1. g9 AR [T

2. AR 871

3. A G4

4. [ (vgwEn ol

1)1
(2) 2
3) 3
(4) 4




‘Tl Cat AWm 2% Wemt ’x 7650 BE7E R ’Ree
LI’ REFCIOOL 5657 Snafmf:

l. armzw 2%z cfos

2. wAf OFz

3. tadz uE

4. Ffat T'manz gl
1) 1

(2) 2

(3) 3

a) 4

1[Option ID=1429]

2[Option ID=1430]

3[Option ID=1431]
4[Option ID=1432]

Sl. No.9
QBID:135009

ST (TLPIeTEHI
BIRCEIRRIIGICD||

GI% *NEETHT (TR

PO AT (218

NTA e =T 8T oA

Gl
BRIIGE

ot

[

3
4. RPN I

(1) 1

(2) 2

(3) 3

(4) 4

‘cice dmranoa

rtOTtE ' dne

AN CY4ERE A

EZC MI2HZ 768'0

wwttim et

TMEr-mestm Tt =3 Ca-mat:
l. swetma e
2. =0
3

.Hms 2R
4. mAT) dl

1[Option ID=1433]
2[Option ID=1434]
3[Option ID=1435]

4[Option ID=1436]
|




Sl. No.10
QBID:135010

YNCZN AFHIBI CSTRIOA TFN FTNFAT 273 AT A31N6T 7

1. NCTENT
2. N WA
3. 261
4. Mm@ N
1) 1
) 2
3) 3
(4) 4

YRCT R MEWom WA 7 REF (°FaC BTN Ret BRat:

. RO

. @t RERgt

B

. AtRET 2 5 gl
11

) 2

(3) 3

4) 4

i D =

I

1[Option ID=1437]
2[Option ID=1438]
3[Option ID=1439]
4[Option ID=1440]

Sl. No.11
QBID:135011

SN RIS STTRTBICEAGEe ST YSRGS 241 (RSN
1. SIS Bl SICHIT Sifsh
G5 5T WIS
3. FGIRUATE
4. =GR M

1) 1
) 2
3) 3
(4) 4

TEWEF ACRCIT CORE'E 2l EPT %8 RYETA TR B8 U Tal:

b2

. 2E2F ®R TX'E cEat
. O T wR et

. (9l B0

. Aeet ol

1) 1

(2) 2

3) 3

4) 4

W b =

i

1[Option ID=1441]
2[Option ID=1442]
3[Option ID=1443]
4[Option ID=1444]

Sl. No.12
QBID:135012




851, corsar wIfst 25aG sfzeydn G [ oo 83350 el (N0wdll (G A, oo @246 =i’
L eI NeABTS
(GBI W=
3. (NISWIEN (Orat
4 GeTRIY RN 1

1) 1
() 2
3) 3
(4) 4
‘zt oot wrmee weit Bacet OAtEEm ot 3t 9 WEE ’Al s Rt Zf 3f 7 WRaTs ARl gat:

]

23R Tfedes

. WUILR ROt

CURSLF 0 FE!

. "2WER AfTRe! adl
1) 1

(2 2

(3) 3

4) 4

LUV S

I

1[Option ID=1445]
2[Option ID=1446]
3[Option ID=1447]
4[Option ID=1448]

Sl. No.13
QBID:135013

wrpe] WA BB AISI5N (AN (R Tz
1. (Mg ARGwel
2. (WMeY SITNAIR
3. (WM GANPICRIAT
4. (Mg wrofeta: I

1)1
(2) 2
(3) 3
(4) 4

Tw1 WL AT RWETf TEF 7Yl 3 Ral haar:

. Al W PHE

. Al W CJREm

. Ralld S8 W'eL’s

. Raf Wl PSSty D agll

ad 2 —

=

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=1449]
2[Option ID=1450]

3[Option ID=1451]
4[Option ID=1452]

Sl. No.14
QBID:135014




M2 AT A2t (11 (R 6izm:

. %5908
2. g Svoy

3. Y Suov

4. gowdr I
1) 1

2) 2

3) 3

4) 4

Al XTF38 2Rl IT WE 7 %8 Atar:

=1
amr

: SE02
D SE0E

& @

T S R
K
—

|ﬁ'\‘1
o
=t

$a
I

: f
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=1453]
2[Option ID=1454]

3[Option ID=1455]
4[Option ID=1456]

Sl. No.15
QBID:135015

TR TN (ATPP AW (RETRE8 S25MAM:

1. (RN

2. (Tl

3. NIRRT

4. JIPA [
1) 1

(2) 2

(3) 3

(4) 4

RALGTIT 2F T'TE0MF %ena 0 T Eagal:

3
7
104

i

31 Tl 0,
oAl

B e
Is
=

]

=|
w
He!

1) 1
2) 2
3) 3
4) 4
1[Option ID=1457]
2[Option ID=1458]

3[Option ID=1459]
4[Option ID=1460]

Sl. No.16
QBID:135016




(PIRICAETR] (TN ZA] LG~ AN
T ORI [ R N E6I (R T |
feTtemsmAN (AT 181
3. YA
4. (AR (PISTREIORAN WY PSAT ]

1)1
(2) 2
(3) 3
(4) 4

WCIa 7 ‘e HE ASD %rE cFaf:

]

. stoznamt /°5a'm S8
2. ete’mamt 271 B8
3. comr YRR
4. wgrm EmrREart owe 55z ol
) 1
2 2
(3) 3
4) 4
1[Option ID=1461]
2[Option ID=1462]
3[Option ID=1463]
4[Option ID=1464]

Sl. No.17
QBID:135017

CFIPLEATASN *ISF AT — “The common idea present in all folklore is that of tradition, something
handed down from one person to another and preserved either by memory or practice rather than written

record.” W
. 64 (Ged
B (Grw

o
3 (AP Endin [«

]

4. CWErotE (9, 2Pfees  [H)

1 1

(2) 2

(3) 3

(4) 4

E'Te’ st (ol Je 7@ — “The common idea present in all folklore is that of tradition, something handed down from one

person to another and preserved either by memeory or practice rather than written record.” ZRargat:

l. wara wes
2. onts WROE
3. BT T ARY'T f R
4. meantes g2, Aercom it sy ot i
1) 1
(2) 2
3) 3
) a
1[Option ID=1465]
2[Option ID=1466]

3[Option ID=1467]
4[Option ID=1468]




Sl. No.18
QBID:135018

i

‘(Tlan (Adfow’ 231

. (Efs Zrosi

2. (T (FGd

3. P75 (FEn
4.  gaWwTEA W)
1) 1

2) 2

(3) 3

4) 4

WA R TeHERET BEa

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=1469]
2[Option ID=1470]

3[Option ID=1471]
4[Option ID=1472]

b2

4,

1) 1
(2) 2
3) 3
4) a
e mfof @t W'z meEngeat Tt T5F MEy st

Sl. No.19
QBID:135019

AN (HIGE FAGIMBrow 321 AMGLAiM:
(=M (2 BAWAl (2 BT 2 SRR

FF BF SRS AT BIATAT 2 FAITAT

N 94l BIKCAT 2 T3 R

AN T2 AT WY (5® @331 BT 2 B

r#z 7 mate’? ot 227w

. WI'E WUE COUA I Befe’? 20% D

. UEar uE Wefn’? ERla A mm

. Rt 2ttt Mes \LE ¥ 97 Wate”? m7"

“a

By
2%
.

s Ba =

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=1473]
2[Option ID=1474]

3[Option ID=1475]
4[Option ID=1476]

Sl.
QBID:135020

No.20




<61 151y (3e151 ZE1M ZI-1 ATGTHISTAT AEAT (RIRAE AT (RPN (&dmisin:
. (ofcimfos Febe
CTITCIET a3 (AT OrRe (58
3. OTPICe Stge
4. IYGINS 1

1)1
(2) 2
(3) 3
(4) 4

]

“RfR cofeor otmem R of” 257 Meaofr mats 5 Tm E'ream Tanat:

. et aEf et m mAawe

Lot e e ettt me weee
Lot e mEna

. T RRTREY ot

1

(2) 2

(3) 3

(4) 4

i D =

.

1[Option ID=1477]
2[Option ID=1478]
3[Option ID=1479]
4[Option ID=1480]

Sl. No.21
QBID:135021

P4 *STFMI — “He is a man speaking to men: a man, it is true, endowed with more lively sensibility,
more enthusiasm and tenderness, who has a greater knowledge of human nature...”

BRICEIEE

1. 5, 9% aferss

ey Aot
3. o1, TG (Pl
4. FReE =

11
2) 2
(3) 3
(4) 4

b2

mWztz corRmma — “He is a man speaking to men: a man, it is true, endowed with more lively sensibility, more

enthusiasm and tenderness, who has a greater knowledge of human nature---”

Zuxtzaf:

. et oo weet e

. Netwr AgacoRes

B el i = O A

. mf gt coret ot

(1) 1
() 2
3) 3

b b2 —

d=




(4) 4

1[Option ID=1481]
2[Option ID=1482]
3[Option ID=1483]
4[Option ID=1484]

Sl. No.22
QBID:135022

“ AUATCAING] (PR RRIARS (1RfE 23
1. Wz, g [
(TR
3. (G "RMA
4. QEBA RICAPICN (BT [

1)1
(2) 2
(3) 3
(4) 4

“wemerl B AleTRT Mhat” RER':

b2

. TR, T gt Rg 7

BGK AU

B A = (b5

. NTATE FEIE T sl
1) 1

2) 2

(3) 3

4) 4

LV N

=

1[Option ID=1485]
2[Option ID=1486]
3[Option ID=1487]
4[Option ID=1488]

Sl. No.23
QBID:135023

TR STTEAAT 330

1. T auomga ar2es (@ [WfE 9™ (A0S 3N (AP ef~oe fferan

2

(3T &9 (VTN

7 (FAI 8F Felbd

4. SRTESEON =1

[

TAAET (IBAT BEAL

@t TR 8% R0 Siwat weEs maemytes 5E monmeE T ef nee g
008 PBR TE™ I

&t @merIT TR mAN

TETR B el ZF ]

(1) 1

(2) 2

(3) 3

4) 4

e D —

1[Option ID=1489]
2[Option ID=1490]




3[Option ID=1491]
4[Option ID=1492]

Sl. No.24
QBID:135024

“The Death of the Author’ 23TAT (N QAT 23Mm:
. @SR

G EIC]

3. oIwEl e e

4. Gl Egaw™ =)
1) 1
() 2
(3) 3
4) 4

‘The Death of the Author’ 2%z Pr Rg-mwit Bgaf:

2

1. z°mf 313

2. gherER 2T

3. Wrzat comtrm

4. TG T 7 BLROD gl
1

(2) 2

(3) 3

4) 4

=%

1[Option ID=1493]
2[Option ID=1494]
3[Option ID=1495]
4[Option ID=1496]

Sl. No.25
QBID:135025

1 S F519© S HEf Eaan Afofo:
1. AL
[ SFD

3. WX

b2

4. wlyhe o

(1)1
(2) 2
(3) 3
(4) 4

fr09 oot G093 WERa Tt 2 s MEat gyt

i1 RARY

[

Jmr
3. dmm

4.  dvatw el
(11
(2 2
(3) 3
(4) 4

1[Option ID=1497]
2[Option ID=1498]




3[Option ID=1499]
4[Option ID=1500]

Sl. No.26
QBID:135026

SONTR GI@ B THN S .

1. (dnS

e

SIRY
3. s

4. I
1) 1
(2) 2
(3) 3
4) 4

MRS NN ZAME RRER %8 GaICH

| Z AT

2 CIRSR

3 (gl

4. ruwm 7t
1

() 2

3) 3

a) 4

1[Option ID=1501]
2[Option ID=1502]
3[Option ID=1503]
4[Option ID=1504]

Sl. No.27
QBID:135027

AR Gl “AfFodney T NSt AREr N

1. Ppdd

[S=]

BIEE]

FIHOGE

(7S]

4. =GR =]
(1) 1
(2) 2
(3) 3
(4) 4

MERte ZPEr Ty “MeEateas” 258 ®Rtus ot miwtz ctos'at:

1. Tz

]

e

3. wHmweez

4. orzEE ot
1) 1
) 2

3) 3




(4) 4

1[Option ID=1505]
2[Option ID=1506]
3[Option ID=1507]
4[Option ID=1508]

Sl. No.28
QBID:135028

CoTIRTL, HTeRIa! SN (e =TT Aife SNy =T A +ofe:

1) 1
() 2
3) 3
(4) 4
e, MERet W Zagt

2
B

258 il WARE Sl meatt:

1. qa7g"s

2 HZIVE

3 nzd'T

4. iy il
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=1509]
2[Option ID=1510]
3[Option ID=1511]
4[Option ID=1512]

Sl. No.29
QBID:135029

(ST STNAT ARA12R5N (HE gefe:
. (I

RUEIE

Rl

4. @fFN [

1)1
(2) 2
(3) 3
(4) 4

b2

[F¥)

21 Wha XRBAT WEmm ot 5wt

1 ETTR

2; RAER

3. Jgz

4. ometE il
1) 1

(2) 2

3) 3




(4) 4

1[Option ID=1513]
2[Option ID=1514]
3[Option ID=1515]
4[Option ID=1516]

Sl. No.30
QBID:135030

15T e ‘onomatopoeia’ GV =™
1. 8

con ¢off

£

4@ 1

1) 1
(2) 2
3) 3
(4) 4

b2

%]

Rt RAMIeE ‘onomatopoeia’ X8 RAat

1 T’

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=1517]
2[Option ID=1518]

3[Option ID=1519]
4[Option ID=1520]

Sl. No.31
QBID:135031

N5 SN (oreraT ordr wrsfn:
. =W
m

CACAT®e

b2

L¥8]

4. @S el
(1) 1
2) 2
(3) 3
(4) 4

et wootzmt whner B7 Rarat:

. |
5
l. 7%

[
il
=i}
9]




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=1521]
2[Option ID=1522]

3[Option ID=1523]
4[Option ID=1524]

Sl. No.32
QBID:135032

S5 &% AL A& S5 M
1. O Srowe
(O (FTH
e
4. fprsfosy =1

1)1
(2) 2
(3) 3
(4) 4

&)

L¥8]

TaPE TE M AR #8575 Tamear:

Il Rt AR

2. b i O =

3. zata

4, cafme st m ot
1) 1

2) 2

(3) 3

4) 4

1[Option ID=1525]
2[Option ID=1526]
3[Option ID=1527]
4[Option ID=1528]

Sl. No.33
QBID:135033

(RINGIH V=TT RSO S5 242 SOl TR,
SRS WRIP WoN HR5N ¥Ee (eI (Tysii 1’
BRICEIEE

. dfewd

2

3. Cufprerzefas

4. (o I
1 1
(2) 2
(3) 3
4) 4




AT AT AMAS (omemt W WSS Fdl e,

TazaM CAT Rk OO %FC0 2w deamef ir
#rytzal

l zotea

2, E'093%09

3, el W Ef et

4, AT ot
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=1529]

2[Option ID=1530]

3[Option ID=1531]
4[Option ID=1532]

Sl. No.34
QBID:135034

(OIS ST NI AGaMm:

1. e
CGUAICERT

3. omhfee

4. CTSTCE MUNITEROPR! ArATE

1) 1
(2) 2
3) 3
(4) 4

ez TeHT T Lz3aAt

b2

[ R T

2 A*mma ot

3 (WEWITTINA

4, et At maesmt Aw Tz ot
1) 1

2) 2

(3) 3

4) 4

1[Option ID=1533]
2[Option ID=1534]
3[Option ID=1535]
4[Option ID=1536]

SlI. No.35
QBID:135035




M =CTM 2|1 02, T SO 51 Zm1 021
ZrAfAam:

1. e
2. R

3. 9N

4. B 1
1) 1

() 2

(3) 3

4) 4

‘ot Arrnmt Aer 55, & e oot Aer 550

=untzaf:

1. Lnarilii

2: i mmf

3. ZeAw

4. BIZT et
1) 1

(2) 2

(3) 3

) 4

1[Option ID=1537]
2[Option ID=1538]
3[Option ID=1539]
4[Option ID=1540]

Sl. No.36
QBID:135036

“T SITST 2 511978 2RI (GIRST (AT O IBABI A (1

b2

3. P
4. PGl ol
1) 1
2) 2
(3) 3

4) 4




“@ A0y Bz ot W Bagam Fatey 2ty ReT wa Tyt Z 2wt

1% Teafm

2 TRaH

3 EAMTEC

4. iifadd ol
1) 1

2) 2

(3) 3

) 4

1[Option ID=1541]
2[Option ID=1542]
3[Option ID=1543]
4[Option ID=1544]

Sl. No.37
QBID:135037

AT ST NG ATGC5T =N AN VLol o™ ST (AT S9N QAT SNGA=NA FoM |
A ISR FANGIT:

1y NE 1)

2. BN
3. G NN IIgN omErl
4. SNol ez N

)1
() 2
(3 3
(@) 4
‘TMtER WeotE O Tz ARC REEM RAGY RUW Trt I'IT mrEr 3678 REIACE et

ARBCOIE 3¢2a T8 Tl Rt

18 A3

2. mWRE FY

3. 7 RECT @50F WroRR
4. wret s 7% mtil
1) 1

2) 2

(3) 3

) a

1[Option ID=1545]
2[Option ID=1546]
3[Option ID=1547]
4[Option ID=1548]

Sl. No.38
QBID:135038

] o PN )] = 240 BV ) B B L U B R

1. AT
2. AM3S

3. BIANE

4. QUAN-CTNIS oy

1) 1




) 2
3) 3
(4) 4

‘et maeRREar gt mf kotmats Zea mmat:

1 2TER

2 2EZm

3 RETMD

4. A E-CEEl sl
1) 1

2) 2

3) 3

(4) 4

1[Option ID=1549]
2[Option ID=1550]
3[Option ID=1551]
4[Option ID=1552]

Sl. No.39
QBID:135039

BN (I, 2T N2, PG (AR ATNGLE, (53 BRoI~T S[BAFE O3 For
?ﬁﬁﬁ:

. GEEE™
=G AT THA
3. WGP 26y

4, SNFYWN W
(1) 1
(2) 2
(3) 3
(4) 4

e ZEE, Tucot st TAW, WK AR 2 Tmte'E MEzage, 20t l T8 RUmtaFs 573 oRaT

]

Byt gat:
il ztEnres
2 =atge 8% ERAT
3 rza T BOITH
4. TRE 3R et
1) 1
(2) 2
3) 3
4) 4

1[Option ID=1553]
2[Option ID=1554]
3[Option ID=1555]
4[Option ID=1556]

Sl. No.40
QBID:135040




NI ST, NN S 23] FIRCToN LTI 20T (RGN WRIAT D EB SFHNR FTRA]
RLEIRIAAR
ﬂﬂﬁ?ﬂ%l:

I- \-‘1 I‘j
2. (AIFRAT
3. 3RIEAMI
| BT S O
1
(2 2
(3) 3
(@) 4
WREE WHRAED, R WRE WT5E 30 BRI L3710 BICF Z63 TATDR WA (9005°% (7 5ar (A7 R I

Erwteat:

1 TIE R

2 g rtot

3 VA [= O

4. st ot ol
1) 1

(2) 2

3) 3

4) 4

1[Option ID=1557]
2[Option ID=1558]
3[Option ID=1559]
4[Option ID=1560]

Sl. No.41
QBID:135041

CeTSIT STTRCATBETAD ZME[T *Fe N ST Arfg s
A. (BT

B. SISl 9 F_I

C. A (A2 TRITHIT

D. ST

A5 SRS o641 9
. A SR B

C W D

B R C

4. A WP D
1) 1

2) 2

3) 3
(4) 4

2

td




R SRATTE R ZEE (OWRet 3EE enatmeif mat:

b 1ife/s e

. PELiOR'D EFEZT @E
ommE MRt 2R
. WO E

0 A wp

Rl Weof 7t WHAFE T 1eS:

iy A TROD B

]

C wrm D
S H B wmom C

4. A wrym D

(1)1
) 2
(3) 3
(4) 4
1[Option ID=1561]
2[Option ID=1562]

3[Option ID=1563]
4[Option ID=1564]

Sl. No.42
QBID:135042

8F AU OF G (AITGINA OB 51 (NI CTACIN VAN (N1 FUTAT TATAIRA
SN OIEIR S2FAT AT (AAE~N OB AT ¥ ToAM:

A. *fere 2l STERr

B. T 274N EIEIPE]
C. FeT AT SEN
D. FeTe 4 S

T ST Sy 2

L. A YR B

2. A WX D
3. B Wi3: C
4 C W3 D
1) 1
() 2
3) 3

4) 4




s
S

W MY, BgTH %02 R Ba W X0 0L oTeeer Re'Fa UIRY WRAT BNETEE WEal %S W Rar Mer
CHTE RN Leotm Reyura:

A. oTtE Tt wA's
B. Wiere amf wa'mE
C. &l Mt TH'E

D. -7 Imt Ta”wE

X wofart THEE %E:

1. A wROT B

b2

A TROD D
3 B wrom C

4. Curm D
(11

2 2

(3) 3

4 4

1[Option ID=1565]
2[Option ID=1566]

3[Option ID=1567]
4[Option ID=1568]

Sl. No.43
QBID:135043

TR NP NI 13 (N1 AR EF A (AT AT 3=z m:

A, FICEHE AN

B. 2459 IE-H
C. S FAH
D. (A5G 91725

LA SR

o
E
oo nw




"N TEAMRE S%F CIWE SRATIN BYY T YOl MEaAr Byt st mar:

. A8 Raza'w
. FatraE AwEs
.’ 0% e Taze
.Y F NACDE

Ontwp

Rl Weof 7t WHAFE T 1eS:

.C mwReym D
4.B wrom D
@)1
(2) 2
(3) 3
) 4
1[Option ID=1569]
2[Option ID=1570]

3[Option ID=1571]
4[Option ID=1572]

Sl. No.44
QBID:135044

BIeT#ITe ] TToICeT™ AW F 1 CA6RE (T O (ORI AeI FM2REF =

A, T AT
B.p@E
C. 38t ¢memn

D. §%T 73] 123

LA T+ B
2.B T2 C
3.A W D
4.C @2 D
1) 1

(2) 2

(3) 3

@ 4

T Weo"m %T eRER FEA WET RAT A CaAr W % 013 258 enatmotuat:

A, of mofT

B. reaamwes

C. gtaf ’nzFz

D. arees €%z rfug

R Weof #ANE WHAKE Y 1eE:

l.A wrow B
2.B wrom C
3.A wrow D
4.C wrow D
1) 1




() 2
3) 3
(4) 4
1[Option ID=1573]
2[Option ID=1574]

3[Option ID=1575]
4[Option ID=1576]

Sl. No.45
QBID:135045
<ST JreamT
(TR (AR5 TCLTe

CeIRTaTe SR
ATIEIE ST AT AT Tage ST T
A. STg3T T2
B. ST T
D. =T ZTEE!

TS S S5

l.A ==& B
2.B = C
3 C rr s D
4B P2 D

1) 1

(2) 2

3) 3

(4) 4




‘RO TIE3
yerero ot Nfa
g g ert 'yl
CIY W maem i

ME-meof M ool RS (A0 WROD 5% 3 Walat:

A. momt =R

B. R Bt R

C. oatzfa e

D. wFe°FzF ST RA

e mf weof @t THRFE 71T

LA wrom B
2.B wreym C
3.C wrymw D
4.B wroow D
1) 1

(2) 2

(3) 3

4 4

1[Option ID=1577]
2[Option ID=1578]

3[Option ID=1579]
4[Option ID=1580]

Sl. No.46
QBID:135046
LN i )

ST LA AT (LTS (ol i St
TR — el R e |

—

o TR (FATE AL AR

A. NS
B. TGO

=

C. ST CeITRE]

D. (7 badl

LA PR C

2.B @R C

3.C &9 D
1) 1
2) 2
(3) 3

(4) 4




‘OB CWeOeT DA WACT 78 RiaAl |
FEf 7 — RONC BT TN

e PuNiE Wa-Twa TROD <Safzat

. TSR

. ECaFEt
W% TugEt

0w e

o

. eme w1zEt

R Wt At WHRE %IeE:

LA wroom C
2.B wroom C
3.C wroomw D
4.B wRoom D
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=1581]
2[Option ID=1582]
3[Option ID=1583]
4[Option ID=1584]

Sl. No.47
QBID:135047

BLTETSA CBIp Wal W] Belewl aiaef

=
3
P
[ws]

B oW
D mop
]
2
o]

1) 1
(2) 2
(3) 3
(4) 4




Re LAt (RN TR Ena ATef s RAOfmar:

. BRET

. BEafw
. WA
. il R

Ontwp

Rl Weof 7t WHAFE T 1eS:

LA wmom B
2.A wroom C
3.B wroom C
4.C mwrom D
(1) 1

(2) 2

(3) 3

4 4

1[Option ID=1585]
2[Option ID=1586]

3[Option ID=1587]
4[Option ID=1588]

Sl. No.48
QBID:135048

«q° BRI (FIATI] (ST €3] A (rease

A. ST IR

.
W
2y
&)
sl

B. SIS Taeq! T3qF Fe2% A6 T
C. i

D. 7 SRR e o )
A S SpE <

A IR
B Ty
.B =R
&

I

B
C

D
D

o
ik Bl b

‘T ARE WECTTET rrageys WHE MRmt oseacfoat:

A BRI BEW

B. Hizfkx RROA CHET WM 5% WERB) %Eh
C. aef3

D. ¢ 33tz wA1 TR ot

e mf weof @t THRFE 71T

l.A wrom B
2.B wrom C
3.B wrRoom D
4.C wrowD

1) 1




() 2
3) 3
(4) 4
1[Option ID=1589]
2[Option ID=1590]

3[Option ID=1591]
4[Option ID=1592]

Sl. No.49
QBID:135049

“ETETG AT TR AL S ST 295 A==z
A. FHIE (B8 (2TeT
B. 2105 5l FR7A1

C. FF TTere (23]

1.A S D
2.B 9WE C
3A TR C
4.B S92 D
(1)1
() 2
(3) 3
4) 4
‘TAIEE 75T B Tt OTE#AZ TTT Tarofoat:
A. oURAT 7O A0E
B. mtnor 7r’ wmem
C. ma'T ZFA%E
D. mBzmt ®eofT 5eE S T a@rt i

R Wt At WHARE %IE:

(AN

LA WROOD D

]

.B wmoom C
3.A wrom C
4.B wrom D
1) 1

(2) 2

(3) 3

4 4

1[Option ID=1593]
2[Option ID=1594]

3[Option ID=1595]
4[Option ID=1596]

Sl. No.50
QBID:135050




£

FFIPRT 1948 9 B.A. W ORI U9 fRT CATSTARE eNefe e
A. = W]
B. TF CHITRS

D. I Fo W]

TS SO SHE 2:
l.A ¥=792 B
2.B T2 C
3 (: 'ﬂnfi D
4. A T2 C
1
(2) 2
(3) 3
(4 4

refmaz 1948 wmt B.A. @ wRegmt Remyls ke erf 2naf ot oat:

A. cipa ®R

B. zooew claem

C. omene

D. mm1 me#e sl

Rl Wt At WHRE %IE:

LA wrouw B
2.B wroym C
3.C wrym D
4. A wrROT C

1[Option ID=1597]
2[Option ID=1598]
3[Option ID=1599]
4[Option ID=1600]

Sl. No.51
QBID:135051




SATTGoIT 3 (T TSR 2o
A, CRREE

B. (A

C. #ireqr mest

D. =T 1

T S S W

1. A ST B
i B Z=7 C
zH C 97D
4. B 9% D
1 1

) 2

3) 3

(4) 4

meztw ket drg enefmefmat:

. L°BETT

. dnteee

. M%z smst

oot sfm sl

Onowp

R @At THRE %IT:

iy A wrROD B

[

B wrom C
£ C wryom D

4. B wwrym D
1

2 2

(3) 3

4 4

1[Option ID=1601]
2[Option ID=1602]

3[Option ID=1603]
4[Option ID=1604]

Sl. No.52
QBID:135052




BrElHEe (e (NAne! T ARG (FFEaEem:

B. TF ST E

L O R
=

.
[ Re]
3
3
)

]
2
5

(1) 1
) 2
(3) 3
(4) 4

ARetm -2 e B T R TaR 'S MIREE B Tea et umt:

A e WrEas T

B. wrmeysa wraatmr

C. wawa wea

D. wafmr g% et

R Wt ATt THRE %IT:

LA wrom B
2.A wrom C
3.B wroom C
4.C wrom D
1) 1
(2) 2
(3) 3
4 4

1[Option ID=1605]
2[Option ID=1606]
3[Option ID=1607]
4[Option ID=1608]

Sl. No.53
QBID:135053




D. =g v form@ 9 (wmE &1

T S S 4

[y

.B &R C
LA RIS
LA IR
. B &
1 1
() 2
(3) 3
(4) 4

oD
o N w

TH, T°F @AEE 5T enatmof oaf:

.E'WEE Z°TE )

BT wAE ra'sea At dged
BT BT At Bage Nged
LSt wrea Atowet Ok Brea

Cowpx

R mf woof At THHE T1e:

l.B wrom
2.A wrROUT B
3.A wrom  C
4.B wrROW D
1) 1

(2) 2

3) 3

4 4

1[Option ID=1609]
2[Option ID=1610]
3[Option ID=1611]
4[Option ID=1612]

i

Sl. No.54
QBID:135054




(1S AICo T WA (=191 T2 ‘c‘ﬁ§
B. farfzrs
C. (#@mIzaeias

I

D. WIZTEFF

TN S ST 4

[y

.B 'EIJ]E ©
(1) 1
(2) 2
3) 3
(4) 4

VS

coat oR=ed fet drg paRoto mi

A otEse TRt T

B. ®fotw

C. mganmrentm

D. azma zfm i

R wotamt THRE %IE:

LA wrom B
2.C wrom D
3.A wrRoOED D
4B wrowm C

1[Option ID=1613]
2[Option ID=1614]
3[Option ID=1615]
4[Option ID=1616]

Sl. No.55
QBID:135055




.75 Trosll w31 Coeiar o

el

B. FOF0T TS A9
C. afes
D. W7 I

T WA ST

e

A ST B
.B T2 C
LA TR C
.B T#EEC D
(1) 1
2) 2
(3) 3
4) 4

= w2

oof, ot zow met doE mE Rt mat:

A meTng
B. me wwta wemerstme
C. weotme
D. matme memea=mes of i

Rl woof @t THEE 7.

l.A wrom B
2.B wrom C
3.B mwroym C
4.B wroom C
1) 1

(2) 2

3) 3

4) 4

1[Option ID=1617]
2[Option ID=1618]

3[Option ID=1619]
4[Option ID=1620]

Sl. No.56
QBID:135056




— Fd

T WA 7 T 8F aAha

C. TR SIACEFT

D. c&r g Al

T S S 4

1. A 952 B

e & 72 D

3.B 99D

4.B 92 C

1) 1

) 2

(3) 3

@) 4

TE, T &gt ReACGT “7 EFEa0E T ToL T srieryt zotuat

A. ez crouozaf

B. oof, i ware

C. 20 W e ma w sl
D. zorts & gl

R wofamt THRE %AE:

LA wrouw B
2.C wroom D
3.B wwmym D
4.B wrom C
1) 1
2 2
(3) 3
4 4

1[Option ID=1621]
2[Option ID=1622]
3[Option ID=1623]
4[Option ID=1624]

Sl. No.57
QBID:135057




TE (ARETOI 5 31 WAL 20 BT HRIGHT 794 e a#2s

| 1 oY LA T CFersei:

B. W (T (TS5

C. CTF (IS (T afee
D. %i;{]\';‘,ic_‘] G %l

T WM 5 <

[y

A IR C

.B TFFED D
.C @7 D
A T B

1) 1

(2) 2

(3) 3

(4) 4

= b2

W e (P RAFET ¢ (9 WD 80 (9% RATRM M WSl Ut ’RUAE WEA TRl Z EZ0of Ia:

A. @t ARCIEZR E°C

B. @t eewtvte ez

C. crwrea a1 e rieicE
D. @f ef®a1 &z ot

R mf woof At THHE T1e:

LA mmom  C
2.B wrom D
3.C wmom D
4. A wrow B
(1) 1
(2) 2
(3) 3
4 4

1[Option ID=1625]
2[Option ID=1626]
3[Option ID=1627]
4[Option ID=1628]

Sl. No.58
QBID:135058




S TAG] (T I

A (9l
B. S5

C. Froe

(2) 2
3) 3
(4) 4

T &l 7MEE acorofmat:

A g7
B. maw
C. gfawges
D. 7oz

R wot At THRE %AE:

l.A wrom C
2.B wrymw D
3.B wweym D
4.B wrow C
(1) 1
(2) 2
(3) 3
4 4

1[Option ID=1629]
2[Option ID=1630]
3[Option ID=1631]
4[Option ID=1632]

Sl. No.59
QBID:135059




TR R Gl AT AT e

C_ ET

D. Gl

B
W o W o

1) 1
(2) 2
(3) 3
(4) 4

0 TROW ZACE TEfRIN 5%f 7 meatsofuar:

AL RETTEE
B. wza'z
C. marimmr
D. ziwets

R mf weofAmt THHE 71e:

LA wrom B
2.B wrym  C
3.A mwroom C
4B wrom D
(1) 1
(2) 2
(3) 3
4 4

1[Option ID=1633]
2[Option ID=1634]
3[Option ID=1635]
4[Option ID=1636]

Sl. No.60
QBID:135060




A, DG
B. (A G
C. gl
D. STAIALATS

l.A =72 B
2.B w2 C
3B @& 2 D
4.A I D
(1) 1
2) 2
(3) 3
4) 4

PRER M #E ettt

A, mrEmge gt m
B. e’mewfm

C. afeeemesfm
D. weeeotsestm

Rt weofamt THRE %Ie:

l.A wrom B
.B mwmoom C

[S=]

Lad

.B wrom D
4. A wroom D
(1) 1

2 2

(3 3

4 4

1[Option ID=1637]
2[Option ID=1638]

3[Option ID=1639]
4[Option ID=1640]

SlI. No.61
QBID:135061




SRS O AR ATHE:
AL 2FECHAD

B. (FICG o

C. T aro
D. (Gi=ro™
I.A =92 C
2.B W C
3.A T OB
4. B T D
(1)1
(2) 2
(3) 3
(4) 4

Aergm M 2E oEfmoTt

A mBrORg RER T
B. mrzewtm

C. mrma=3fm

D. zeotstm

Rt weofamt THRE %Ie:

LA wrom C
2.B wmym C
3.A wrROU B
4.B wrow D
1) 1
(2) 2
(3) 3
4 4

1[Option ID=1641]
2[Option ID=1642]
3[Option ID=1643]
4[Option ID=1644]

Sl. No.62
QBID:135062




F 91250 Ao SreTE! T UaTRET W
A. FFIE el

B. R et FrERmal

C. F-YT TOTAT TH9

D. SR STEARIAN

ok

A TEET OB
.C S92 D
.B &L D
A TR C
1) 1
2) 2
3) 3
4) 4

F SOV ]

g RO RATM THW'REC (HAES NERIEM RaFal:

A. ma’3w cmeot gamt

B. rucitza vtuz wuzamt

C. ze-Trm RR07A ROTEAMS
D. mmiz cmrtmzamt

R mf weofAmt THHE 71e:

B
D
.B wrom D
4.A wrowm C
1) 1

(2) 2

3) 3

4 4

1[Option ID=1645]
2[Option ID=1646]

3[Option ID=1647]
4[Option ID=1648]

Sl. No.63
QBID:135063




—

(BTG (AT AEIA 2GR o=l I3 T S

A. RS
B. SICAIS3T AT (AT mRIS T Rewan
C. T YRz

= =

D. EREamalT

Pdr-—'

W o W o
3

O A W

FEREAT MTWE RATW Bet22-Tm enoea ofe: 250 /iRl gal:

A ractazamt

B. werwmz mme gofewtwet mfzamt
C. cre wrCfmzamt

D. cacitwezamt

Rt weofamt THRE %Ie:

LA wmoom B
2.B wrom  C
3.A wrum D
4B wrom D
(1) 1
2 2
(3) 3
4) 4

1[Option ID=1649]
2[Option ID=1650]
3[Option ID=1651]
4[Option ID=1652]

Sl. No.64
QBID:135064




TR o ARG

A. SIS

B. ZseTasi SRl ST
C. sroRIZesF

D. 32 S & AIG-ITal e

[

2 B

b2

o
o o o
3

0Q e

(4) 4

RO 36 SeEE B

. CREfM(ET

. AIRESM TRITE ROTTRT
. BRI A Ef

. RN TRT g'zefwtmt et

e i ool

R wotamt THRE %IE:

l.A wrom B
2.A wroom C
3.A wrym D
4.B wrom C
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=1653]
2[Option ID=1654]

3[Option ID=1655]
4[Option ID=1656]

Sl. No.65
QBID:135065




*FRET BLEAKTRAN AR TR AL
A. BRI 77 AR
B. 3= m C_J_ITQQ\Q-T

C. SRR MHCF A AT

D. SO T 4:’3&’@‘:&] TR ATFT EEan Eail S

f—

. A TS B

.B &= C

.B T#F2 D
.C I=7 2 D
1 1

(2) 2

3) 3

(4) 4

S VS S

CERERE T3 Maxksr ofudrs 8 winar:
A. ®¢uzEtz MEL TPEE
B. 28F7A (ORTE (5T

C. ZRIUAZ REET ART W@
D. sigemt deFk TROW COBETT TN TROE UEE3e B0k XRTE S0

Rt weofamt THRE %Ie:

TROD B

I~

TRoOD C
TROD D
TRODT D

ol
N ww »

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=1657]
2[Option ID=1658]

3[Option ID=1659]
4[Option ID=1660]

Sl. No.66
QBID:135066




T3 List I 9972 List 11 21 5FRT AT

List I SIGICaT List IT ST
A |CARCT 2R -CoTe L[ =T
B. |4Te C(FFMIS CETAT L [F0A S| @ o949l et
c. [ A oL |<re FERE
D |EFSERH IR | v [RE Tl
TN SR ST 2
1.A-1I, B-1. Cc-1V, D-1III
2 A1 B-1V, C-1I, D-1II
3JA-IV. B-II, C-II., D-1
4 A-TIIT B-II. C-1. D-1IV
) 1
() 2
3) 3
(4) 4

Fyemf List I wreom List 11 mf Rog miw

List 1 Te'f5 2T List I TC'3 2T
A red Be-%m L (5t Es
B. [In0 wEas 2T |
At
C  |rEfD 2%3 L |rfoz wsast
D. [e"we’ 3wz m ’wurEst IV, |[®mEWT E4WE

Rl weof @t THRE %S

1.A-1I. B-1 CcC-1v., D-1III
2.A-1, B-1Iv. C-1III. D-1II
3JA-IV, B-III.L C-II., D-I

4 A-1I, B-1I., C-1. D-IV

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=1661]
2[Option ID=1662]
3[Option ID=1663]
4[Option ID=1664]

Sl. No.67
QBID:135067




T3 List I 9972 List 11 21 5FRT AT

List I sTi3fa List TT 31341
A [FTEs iy Fre 1 [T Caifmrs
B. [JEFE oL |ca=iEr ee
c. |[CHtEREE . ST T
I GlHGIE A S TG IRIEEEIE]
T S ST <

1. A-TI1, B-1V, C-1, D-1I
2.A-11, B-III, C-IV., D-I1
3JA-1II, B-1I, C-II, D-1IV
4 A-TIv. B-II, C-III, D-1I

1) 1

2) 2

3) 3

4) 4

Fyemf List I wreom List 11 mf Rog miw

List I 25erfm List I1 TH3

A lpruE waf Bea I |roPozr mafzad s
B. |mwom ma I wmtew cofms
C. |[RAZE™ oL |oatar deorR
D. [Bme'e IV. |[H7°0% RI36'R

Fwmf wofamt THRE %ig:
1. A-TII, B-IVv. C-1. D-1II
2.A-10, B-III, C-1IV, D-I
3JA-III, B-1. C-II. D-IV
4 A-1IV, B-II. C-III, D-I

1) 1

(2) 2

3) 3

4) 4

1[Option ID=1665]
2[Option ID=1666]
3[Option ID=1667]
4[Option ID=1668]

Sl. No.68
QBID:135068




T3 List I 9972 List 11 21 5FRT AT

List I A1461 List I JRCFT&THAIE
N eI ECE]
et F—.
B Iyt S

CFTAT ATATEWT 7 E%‘WE i SEIEEED

D |TEEh S wrERe v |[CTeREs

TS SAw ST <
1LA-1, B—1, C-1v, D-1II
2.A-1 B-I1I, C-III, D-1IV
Sa—I. Bl C=I =]
4581y, B=IL €=I D=l
1
) 2
@3) 3
(4) 4

Fyemf List I Wheom List I f A8 mis:

List I Refier List I R4ET&T
A [meofm L |reTstwetm T
mom gt T :
B. " I potrzefma
wa Ffef
e
B [ I @ REw!
oot Etmee
D |Tzmf WRE BB W V. eRetme T

XMt Wotamt THRE %ie:

1.A-1I, B-1 C-1v, D-1III
2.A-1, B-II. C-II. D-IV
3A-NTOI, B-IV, C-1II, D-1
4 A-1IV, B-1II, C-I, D-1II
(1)1
) 2
(3) 3
(4) 4

1[Option ID=1669]
2[Option ID=1670]
3[Option ID=1671]
4[Option ID=1672]

Sl. No.69
QBID:135069




T3 List I 9972 List 11 21 5FRT AT

List I e List IT Scoigife
- a5 et (T3 9Tas
A ST L o
B [V 7T I [PeLT AR
BEIEEE] I [TRpH e &F
IR v @i hoee ol
ST SAwa ST 9

1. A—HI, B-1IL =1 D-I¥V
2.A-1V, B-III, C-II, D-I
AN Bl €=l D=l

4. A-1, B-1, C-IV D-IHI

1)1

(2) 2

(3) 3

(4) 4

Fyemf List I Wreom List I f Aog mis:

-‘J‘ .

List I ooz’ List I T¥*N0R &fo
rERflz e TIRa T
A pizgcstm R
VA
za (A us 1 [rfulz s MrZ3
C. |ractus I |[Z°WXN ERPS AFE
D. |[AEezamiaset IV romT 7T WFE

Fwmf weof@mt THEE BT

1.LA-III, B-1I, C-1. D-1IV
2A-IV. B-III. C-1II, D-1
3A-1II, B-1V, C-1II, D-1
4 A-TI, B-1, C-1IV, D-1II

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=1673]

2[Option ID=1674]

3[Option ID=1675]
4[Option ID=1676]

Sl. No.70
QBID:135070




T3 List I 9972 List 11 21 5FRT AT

List I CICAIAS List IT ©3(
A o= 1L |EerEitasss
B. [, &% (AR I [eSrrered
c. |8 CHIGA L [FETgsiiAre <
D. [/, caff v, |(FSER
T S ST <
1. A—TII, B-1V, C-II, D-1I
2.A-1V, B-II, C-III, D-I
3JA-II, B-IV, C-1, D-1II
4. A-1, B-III.L C-II. D-IV
1) 1
) 2
(3) 3
4) 4

Fyemf List I weom List I mf Rog miw

List I Pmaafo4 List IT 3a'%
A prE ofta 1L [Emeatromes
B [T&, TR FEIT I |[CRmE REm
C. |[FEC kT I oteswe el
D. [t ma”m IV [Emes

RX Ml Wotamt THRE %S

1. A-II B-1IV, C-II. D-1
2Z2A-IV, B-II, C-1III, D-1I
3JA-II, B-IV., C-1. D-1III
4. A-1. B-1III. C-II. D-1IV
1) 1

) 2

(3) 3

(4) 4

i

1[Option ID=1677]
2[Option ID=1678]
3[Option ID=1679]
4[Option ID=1680]

Sl. No.71
QBID:135071




T3 List I 9972 List 11 21 5FRT AT

List I (31241) List II (Ti3fqF)
A [@CEET ToeE ; O ‘,_\' SRR
EEZIE]
B. [R5 SHET I [FTSddl 199 M (J7H
IEET] L |7 CFAFAT SF F59
(2 [OSAA vl &liceiioiEr
ST SAwa ST 9
LATE: B-1: E-T Bl
2.A—1 Belll ©O-ll D1V
3JA-1I, B-1IV, C-1. D-1III
4. A-1IV, B-1I, C-1, D-II
1) 1
2) 2
3) 3
4 4

Fyemf List I Wreom List I f Aog mis:

List I (T®3) List IT (@5afm)
. atmorat ©E ERiTiON
A @afcisemme e I
Tf wert
} ciwg-gt Hiwet: af
B. [=Rf W 1g I
oot ey
C. |mmf 7r Il |#@f 2'mreE T'E I
D. [7°Tr) BAITEC IV. MR aarich

XM wotamt TRRE %ie:

LA B-=1 C-IV D—Il

22A-1, B-III, C-1I, D-1IV
3JA-II, B-1V, C-1, D-1II
4 A-1IV, B-III. C-1, D-1I

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=1681]
2[Option ID=1682]
3[Option ID=1683]
4[Option ID=1684]

Sl. No.72
QBID:135072




T3 List I 9972 List 11 21 5FRT AT

List I (FT13fa%) List II (3241)
A [ReRl CrR AR = L [ AnE
T T L [SEeR s
c. [|Afeey o M [SCERS b
e ATy See
D. s s IV, ST«
SN ST ST 4
1.LA-TI, B-1II, C-1. D-1IV
2. A-TII, B-1V, C-1. D-1II
3JA-IV, B-1, C-1I, D-1II
4. A-1, B-III, C-1IV, D-1II
) 1
() 2
(3) 3
4) 4

fy ™ List I @ReW List [1 mF Reg mis:

List I 25afmr List II T5%

rAtueet 7oz Aaem N

A L |wmT coronat
VaE -

B |RyuAmf A% I |r-2mzr ateeet

C  |[MAEtesE mtoeed Ol |wsemme weasret
mefmat 7atue .

D. - e IV |T2mzF rfemen

koW 7 BREs

R Teotamt TARE %I

1.LA-II, B-III. C-1, D-1IV
2.A-II, B-1IV, C-1. D-1II
3JA-IV, B-1, C-1I, D-1I
4 A-1I, B-III. C-1IV,. D-1I

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=1685]

2[Option ID=1686]

3[Option ID=1687]
4[Option ID=1688]

Sl. No.73
QBID:135073




T3 List I 9972 List 11 21 5FRT AT

List I ©T5( List IT M& 15

QT ST=IsiT ST 5122

A [T L [ () o3 wet
(T 1

(TS 2R CRlar<s
(2T CURFAAT, ST,
SR IR, (R,

B [ene R F S oW
(T STFFG ST
BIE
_ o EEERERIES R
c TCOFAOF 1 ) T
_ &G, (TGl
D. [woCEECTD S M
T SwAN ST
1.LA-II, B-IO C-1V, D-I
2.A-1, B=II, C-IOI, D-1IV
3JA-1OI, B-1V, C-1, D-1II
4A-1V, B-1. C-II, D-III
1) 1
() 2
(3) 3
4) 4

fy ™ List I @ReW List [1 mF Reg mis:

List I 3g'F List II COWFS3m
5 : (atrf )
w R . ﬂ?o" TR TFRP L R (2frfag)
CET Rat E0F
21 ABEcot AT Afw T,
. W WE, AET (9, ARlE,
B. [wmaeesufm I
ZTWAE Aaw ThRa 750
CEL TR MUCE 38
C. ptew Rt I (TETTE RUET TR 27 7rg
D. |atcome-om e IV. WFzE”, Uz E'Ia T

RY M Wt @t THEE %2

1.A-II. B-III. C-1IV, D-1
2A-1, B-II, C-III, D-1IV
3JA-III, B-1IV. C-1, D-1II
4 A-IV. B-1I. C-1II, D-1II

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=1689]
2[Option ID=1690]
3[Option ID=1691]
4[Option ID=1692]

Sl. No.74
QBID:135074




T3 List I 9972 List 11 21 5FRT AT

List I =& List IT =113 (a8
A [PHIFT I [g9<2 21507
B. |c&F o [Em
c. [FEr L |49 eF (SWd
D. [ArghiE V. (SIS & ST
T WA S 9y
1. A-11, B-1 C-1V, D-1II
2.A-1V, B-II, C-III, D-I
3.A-1, B-III, C-II. D-1IV
4 A-TI, B-IV. C-1. D-1II
1 1
@) 2
3) 3
(4) 4

Fyemf List I weom List I mf Rog miw

List I OIMH List II 25efmr
A [AtoEetE L [Raetm 2B
B. |maer I [zat
C |mes . (@ oRfe T e
D. Hzmiale IV |@4'%RRF TE mefeorRees

RX Ml Wotamt THRE %S

1.A-II, B-1I. C-1IV. D-1II
2Z2A-1IV, B-II., C-III. D-1
3JA-I, B-1III, C-II, D-1IV
4 A-1II, B-IV. C-1, D-1II
1) 1
) 2
(3) 3
(4) 4

1[Option ID=1693]
2[Option ID=1694]
3[Option ID=1695]
4[Option ID=1696]

Sl. No.75
QBID:135075

AT List 1 193¢ List 11 8t =T AT

ListI  ®[34l List IT 113196
A [N SR T |90 A1 2Te I/
B |mdTEE 722 I |9 5w Cae
c [Tem ez c@mi m [ e
D. |AENTHAR A A CIFEIRARGE
T S ST <
1.A-TI, B 111, C-1V, D-1
2.A-1 B-1IV, C-II, D-1III
3JA-TII. B-II,L, C-1. D-1IV
4 A-1v, B-1, C-III, D-1I




(1) 1
(2) 2
(3) 3
(4) 4

Fymt List I @rkeom List 1T mf oz mis:

List I ©5% List IT 25erfmr
A [Retw zEdmans L |mx7 oxe sxt @
B. |mgratsd ofms I |ow Raa wketeot
Cc. Wreza otz zaf . |meats geast
D. |m&z amma (G051 V. |ramf @ &7

XM Wofamt THRE %ie:

1. A-II, B-IOI C-1IV, D-1
22A-1I. B-1IV. C-1I, D-1II
3JA-II, B-1II, C-1I, D-IV
4 A-IV, B-1. C-1II, D-1I
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=1697]
2[Option ID=1698]
3[Option ID=1699]
4[Option ID=1700]

Sl. No.76
QBID:135076

T e ST AREREA S-S
A. (M2 Y2 ere
B. (2@ L2

C. (3fr2e e

(Mg 42A2 COTHATT
T SR ST <
1.D-A-C-B
22A-C-B-D
3.C-D-A-B
4 B-C-D-A
1) 1
(2) 2
3) 3

(4) 4




™ ofoLofm et mf Mexf g TR e-Tm Eat:

A RFtmD %% rf i es
B. Rzt wam come'm

C. Rafm PEyrg

D. Rzl %55 % 3 Fm T

Ml weofzmet THRE %ie:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=1701]
2[Option ID=1702]

3[Option ID=1703]
4[Option ID=1704]

Sl. No.77
QBID:135077

TN (TR, COT3 O AT AT (e, €2
A. CIRFTET 2RIZ_I
B. «IBwa 2T
C. TRGFHA [
D. (B 3=
T ST ST -
LA—B=C—D
7 B e
5.0 DeksB
4 D-C-B-A
(1) 1
(2) 2
(3) 3

=

= i
us |2 .a":A

5N (ORI AI-TIRET 12 S S ST w-g Tl

o
@MW




Fmgeart d2ww, Wagnmt wed MESTE (e KB, 7 Reweofm,
Rl ROSAL

A T'TRR BT ATE

B. vzaw mawat ot

C. mPdzmrat gtoatet
D. 7oL Zmtrt

XMl Weolamet THRE %Te:

1.A—B-C-D
2.B—A-D L
3. C—D-=A-—B
4 D-C-B-A

11

() 2

(3) 3

4 4

1[Option ID=1705]
2[Option ID=1706]
3[Option ID=1707]
4[Option ID=1708]

oRamrt d3rna — apatwotm wofmt TS THRE

Sl. No.78
QBID:135078

(AT ST (e RISy SRR e el w2 sHnef:
B. TCAE &1
C. OIF 2
D. % ==l

TN ST ST

W
b»ﬁbdtj
UJUﬁ:b
SwE o

~B—
iy
S
S8 S

_3‘_~.

1) 1
(2) 2
(3) 3
(4) 4

B EENLF XEaaT B I%l g anaf meotm wof ™t |E R =at:

A T RET REL T
B. corco’m amwE

C. 7m rtuz’

D. otz comemet

Fwm weof@mt THRE %1eE:




() 2
3) 3
(4) 4
1[Option ID=1709]
2[Option ID=1710]

3[Option ID=1711]
4[Option ID=1712]

Sl. No.79
QBID:135079

A. TR O ()
B. Ol 9151 Areger
C. ToRE! féiege

D. CRST el Fo=i

T SwA SR ¥
1.LA-D-C-B
2B-A-C-D
3.C-B-D-A
4 B-D-A-C
(11
() 2
(3) 3
(4) 4

memf exgtrofo Tof Emwfznf iz cmeat:

A. zmmsiat Reof (9)
B. 3mxamwt fat cofmz
C. eomrat cfwzga
D. a"mi: Pemt cmmiat

FXmt Tofamt THEE %1

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=1713]
2[Option ID=1714]

3[Option ID=1715]
4[Option ID=1716]

Sl. No.80
QBID:135080




T TRRRRR W (RN ST S

'J«JPJI-—'

J‘J..

Al

B.

C.

D.

—~
=

TG 9 [HETe

BT 97 (AT

TP S ST

tﬂ:PﬁU

-B-A-
— e P
— D~
—E—A—

Uw:vﬁ

1) 1
(2) 2
(3) 3
(4) 4

Mt enatmeotm wef

Emwf 3 TAE T Em

A. 7t mfee T ER 7@ Sl
B. seze wea afweetwf
C. oimree Twes mepef

D. mEctnr WE 7

(bt

R weofzmet THRE %1e:

LiD—B—=A—C
Pl Bk
JA-D-C-B
4.B-C—-A-D
1
() 2
(3) 3
4 4

1[Option ID=1717]
2[Option ID=1718]
3[Option ID=1719]
4[Option ID=1720]

Sl. No.81
QBID:135081




LA TR W (e R wE-e
A, GBEHl (]

B. st SRwnh T

Ca&&ﬁwﬁwpm@2m§%

D. )'_?\‘ "\55'”7‘;,5[- B

TN S A Sy 2
1;A—D-C~B
AR S W B A
F A—=R=D=E
4.C-D-A-B

1) 1
() 2
(3) 3
) 4

Rt 2natmotn wof EOnf3mt TR E- Tl et :

A wAEs d

B. mefmet mztirt cea

C. 7Zzfuat oJ7tpn wrow cowat o
D. cicvmert st mt coma"T

R weofzmet THRE %1e:

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=1721]
2[Option ID=1722]

3[Option ID=1723]
4[Option ID=1724]

Sl. No.82
QBID:135082

SRR S5 CoAFol S-Sl
B. TEWIN
C. (B S
D. W12 SCAMHIAT

T SR ST <




(2) 2
3) 3
(4) 4

FEA T B ot mwrmet TAE- T Ewt:

A. VA EZR CIRSAATE
B. 567F 22

C. ¥'ILF RCt7E

D. R5ZRF 58°H3

Xt wotamt TRRE %e:

l.LA-C-D-B
===l
. DB Ao
4B-A-C-D

11

() 2

(3) 3

4 4

1[Option ID=1725]
2[Option ID=1726]
3[Option ID=1727]
4[Option ID=1728]

Sl. No.83
QBID:135083

o, o, Aered, Rl sfersiie Sy aredr wiafas! TS

A. Tceﬁsf—cﬁ:.\ el

B. FHite o ST Sz el

C,'._h_‘:.,.c"T
D. TlFHq
T S ST
1.B-A-D-C
2A-D-C-B
3.C-B-A-D
4.D-C-B-A
1)1
(2) 2
(3) 3
4) 4

-
['2[1:

W, WA, gtz sfantT-orsrofn ot 297 2xafrmt /L-resar:

A. mamroreaiet

B. efesfm @ come rafERa T R
C. rtmgew

D. awas

X wotart THRE wie:

=D —C
=iC—B
-A-D
-B-A




() 2
3) 3

(4) 4

1[Option ID=1729]
2[Option ID=1730]

3[Option ID=1731]
4[Option ID=1732]

Sl. No.84
QBID:135084

AT Statement S AAlTe: ST Assertion A 71 & 751 S Reason R 7]

o

Assertion A: ‘S 5RS FValeg2 @33 TAMAT FRIWT 1B *TS WA TA AGRAFLIT A5 Frarsn 12 S
ElsdraRICENIIERean]

=

Reason R : BIRISTHI= TRRIGHT (RS 25T eT5es] [R5l Al sTabF] Wagi2qma 27 12<0 |

TG AR g2 B9 wpEl 9

. AP eWaT R o1f
. A 77 S R 5
CAFARAPN
.AFR A TE|

1) 1

(2) 2

3) 3

(@) 4

w7 Statement wret miet: wrr Assertion A ot wamw wrr Reason R ot

[T R

=

Assertion A : st ¥aty BfARCHIS WESH T Or X WMag e 9z What Tt iz et 65 erg
AR BRSO REFRCD (ERTT =618 exatmwef i

Reason R : ®uzw'mz ®Ad'zr ©3 oM™t eRwem #Ateamt omtnt srRem RerFectfmsant SAewtsef i oy
et geof ot Rwl BUC THARE %IE:

. A wrrf mwam R 27ef
. A 27ef wamw R wwmt
. Ay Rog ARl
. AR 23eEf

1) 1
(2) 2
(3) 3
(4) 4

LS R S

.

1[Option ID=1733]
2[Option ID=1734]
3[Option ID=1735]
4[Option ID=1736]

Sl. No.85
QBID:135085




T Statement Fell AF: T Assertion A 1 S 751 SR Reason R 7]

Assertion A : TOWI TERTAI LRI TN 7827 (22|

Reason R : Tl @2 wow pYl (2189 T2 |
T AR T2 3 w5 9

.AJR P

. A = Sl R B
. A S R I
AR A M|

1) 1

(2) 2

3) 3

4) 4

mxa Statement wet miet: wre Assertion A ot wam wrr Reason R ot

L R S R

.

Assertion A : A WIBEZEE WA WET WMt RTW 7 0772 |
Reason R: wemf mw'uaf mwr xmma 708 Crazet |
LIy miet geifmtf em BeC WRFZ ZTe:

1. At Ry AAERf
2. Agaet waw R wrmt
3. A wrwf wam R 27zt
4. Ay Ry 27efl

1) 1

(2 2

3) 3

(4) 4

1[Option ID=1737]

2[Option ID=1738]

3[Option ID=1739]
4[Option ID=1740]

Sl. No.86
QBID:135086

LW Statement Tl #AE: ST Assertion A 7 S 75T S Reason R 7]

Assertion A : (92 Ao THFoo 2R TR A (PR (A

Reason R : 2T ANHEAT (W 2 <59 THTS BT *BGFF LI |
TG AR T2 TH HR AT

. A T SmE R B
. A S e R 1
CAARAPN
AR AE|

(1) 1

(2) 2

3) 3

(4) 4

T R

.




mw# Statement wrt miet: wrr Assertion A ot wamw wrr Reason R ot
Assertion A: Eatma Xrergrt 2Zrarert rfnnz 25t Wz 7t
Reason R: 2xrtus’ orratt kafma Rrersmt &7 @i BT Temyf sami et |
LI ys miet seof vl "yl BUT WHFE X

1. A27et mwamw R 7Rt
2. A zrrf waw R 27ef
3. Acg Ry wAmf
4. Ay Ry 23efl

(1

(2 2

3) 3

(4) 4

1[Option ID=1741]

2[Option ID=1742]

3[Option ID=1743]
4[Option ID=1744]

Sl. No.87
QBID:135087

YW Statement S AfE: T Assertion A 7 S 75T S+ Reason R 7]

— —

Assertion A ; BIS<EER LA oM GCAGFHIHINM 2UAGLIA LG (TR G (FRLAR (oA me g I
(EERA (FreTHFa S |

e

W AT S (G SNl TN (RS CRAFF (e |

Reason R : SR WieIl6F 8241 (FIFCaaE4ed
TG AR g2 29wyl 9

. AP R B
.ASRIR @7
AR B

. AT R 7 7|
1) 1

(2) 2

(3) 3

(4) 4

mx# Statement wret miet: wrr Assertion A of wam wrer Reason R ot

[T R

.

Assertion A @ RE%427 Re°M That TRat@r Afozaat SCacRat etz oer BT Tem That ETes dofTeryg”
ARC Ol erof I Bla Ieamet |

Reason R: wr'z astwfw 5z Eweatonefural SeacRalweserer W' RyIef ETas T Tereaf
EOaR' TR

LI ys mief geof It mygl BUT WHRE %

1. A wrmf R o) 7rwf
2. Axnrrf R 27zt
3. Agaef R AR
4. Agaet R 27et|
1) 1
() 2
(3) 3
4) 4




1[Option ID=1745]
2[Option ID=1746]
3[Option ID=1747]
4[Option ID=1748]

Sl. No.88
QBID:135088

UMW Statement Fell AfS: T Assertion A 1 5 751 S Reason R 7]
Assertion A :  CZTBII AT I CoTORWS, ST A=A ST #if 2T (IR TFegf@ 2| (Fretwe |

—

Reason R : RTE@o- T 20 %2 IUTH (RIS TML(F 2= §Fal 212 A1 2|

T AR T T W 4T

. AeT@R FafE
.ABPMR q5™
. AT R 5™

. ASMIR @fF|

1) 1

) 2

3) 3

(@) a

mw# Statement wrt mfet: wrr Assertion A ot wamr wrer Reason R ot

P

e

Assertion A: me* T @@RT A% CRATAE, BIM MM That MICtUa (5°E3E ESA1ef ZRC EUa TS|
Reason R - watoywwicat ag@we ki ssmt mrrcfo R%I12 (07 TRC TC 2Rl TAEE MFEM STfT mt ZEwt |

LIy mief eof vt Ryl BOC WHARE X

f—

.Agvet Rogast
. Awrrt R commmt
. A 27ef R "Rt

. A¥wrRf R 27ef|

(1)1
) 2
3) 3
(4) 4

B W

1[Option ID=1749]
2[Option ID=1750]
3[Option ID=1751]
4[Option ID=1752]

Sl. No.89
QBID:135089

MW Statement Fell AT: T Assertion A 1 S 751 S Reason R 7]

Assertion A : CXITTZRE 2T SN T2 TGS TG AMGAT CUTFR2 T3 TG FReF 782 W70 LRI g |

Reason R : S¥e S SIS S € 291 5211 &2 (5131 102 @[T CNREA(2 Sal 3%/ (2= &4 |

ST AR TG T TG U

1. AP R &f@

2. AR A5

3. AT@R B

4. A9 RA I
(1) 1

() 2




3) 3
(4) 4

mx# Statement wrt miet: wre Assertion A ot wam wrr Reason R ot

Assertion A @ e Tofur &Y BN RRO CYRgT RYl7 Tels ¥ ED IOl Tart Ryl BEC WafPFg ’RT T eaamt
TA U Uk

Reason R: weitmrz @A mzott ®eR WEaAr AW RECE TE'T X°CE 17 C4RET RaEROMD Tant ’OT % Erres
AR 1

RTW3s Miatgeof Pf Rwl BCC WARE X

1. A wrrf R 2aet
2. Ay wamt R o st
3. A273gt R AFmt
4. Acs Regaet|
1) 1
() 2
3) 3
(4) 4
1[Option ID=1753]
2[Option ID=1754]

3[Option ID=1755]
4[Option ID=1756]

Sl. No.90
QBID:135090

AT Statement Sl FATs: 9T Assertion A 71 & 751 S Reason R ]

Assertion A ©  SIX el AC-XTTE (5 AT &7 55T ST+ |

Reason R : TZ&! LTHIW Jra-iall 5R-a57] Moo YaeRT bR FI29a1 Fameal SeefEh v (e |

T AR T2 T S AT

. A= e R B
AP R 5
. ADT WS R A

. A =g Sl R 3 &)

(1) 1
(2) 2
(3) 3
(4) 4

L P

I




mw# Statement wrt miet: wrr Assertion A ot wamw wrr Reason R ot
Assertion A: wrymz s@FAEM &t -3z Tweoter MUe TERE T Razr |

Reason R: m2wrmt T’ sa zaFAEmt Rr-ef mem of Wm o TRSYRA'S SR Uhag cagrmumml rizocfmt kRer
gy

RTW3s Mt geof ™t Ryl BCC WRAFE Re:

1. A 27zt war R xrrt
2. Axrrt wam R o wrmf
3. A 7rRf war R 27ef
. Ag3ef mam Ry 27t

1 1
(2) 2
(3) 3
(4) 4

.

1[Option ID=1757]
2[Option ID=1758]
3[Option ID=1759]
4[Option ID=1760]

SlI. No.91
QBID:135091

STl ST RITTed grERT STl SR S S PRy, SErY (AT, STy e W, Y (AR’ S
TFET AT A (R OREL, TR, B, (AT FEWE S{ A S NN O S S_e 25
(ZRF R | (ST (STEFRT STowaisll 51 SN (STeH (STSRT MEIFoN (AR W02 TFv1 (Se (OTeaT RLToRaN 82 F

e BT (ZRE | ST T¥E So@] @341 NATFISM 518 (Xaae s SRal RITTed Ssme Tz asrae grer o3 S

Tl G G T AT &7 Bre=T CUTRRT A0S S @21 (CRE|  SrHN @ S G (ZF O, T W
CoATRHTEF S WO WERT S50 Tl = S @5 brea camae W TR Tweiw LS ST YB3 Sl bEn s 4By
g foeamdl (A RTaesg YRyl SRR ARl gmel]  YBwEer Reresy oRkiel|  sowmw R[imesy
SYCAATT o7 ST YR NG TS A SHeR1 Tl (Gl (ORI, ITIAL, §Y &2 (A2 (ORI, Wl Tew, Zeel

T W (oA, eI I TR T FEARN ZAN STHAT IHRE ST 52 TR Tl (T (T | MY (ITHARE FRAHAT T

B THGIAAT RCTGH] T2 TN AT &I R =113 | 42 ST Sz GRINIHAT 71 FGAT (ARG

TRITToq WHTF! (IR TFe2] SEoIRq bR Eeamal ¢ oo S MeTIaM TR FCARF, (TTeH (SRl T4

(oAl @2 (e FLTad | SHOS! OrHe SrHed RIS (AERM T8 S S Sora (- 2! TG &l F250 |

REW TREFA LN 7258 RTSEM G Wote) RSRs MIAErs, ’RRs A%T WIALrE, RRRE 0TATIE
Wt RETRC RIWHT #AIUEa TOrats WRE, Tmts, 7furs, X0 maan e Slaar Thal Rawofias sirear
RIRT RATSE A(0E Z@Tayt | e wdaes eraret 7erst Trat seae @udes /essret eofamt wan siearn
wallz wdaes sfewert  rn |y ReeRoff Afmg Zamwt | ’U0s ROT TREE ThE RMEDTar RS0 Yeerave
FalE Tfwwe TROW exein 850" 2%F RIS med wef @of WoRe wme ens’ Teamrse a0fal RSt % eras
gRE-T WRERF TRC dag i mo-OrkRTxt oot @wof ZERF wfees, ROT RECE myorst Cral &L RECz /I TRzl
reqet | wet wof act A9r weersrs satznt ®arat sreemml erofua ratonmt ©Reg AAf Rart wafoic JaFRE
Aturers #urwtza Ifwwas watontreotor Ttwtzart Smewtzet 2emetn atofreotor 7'z, kre w9q43,
wtozw mafe ket dras, RTBEM A%T TROD PRE Ercsi #taf T5as RO TR0 750 etofl Tk 7 er 28wt i
TAZ WM CROMIZ REWSE Agsaoaal Hiengr 2ueiu ereeTv Lrar 40f ESza #fuar eoetn wafroswmf
AT WROW BERWAGE ORFAA CWONSFM IIena THCER? CUINTE Fa RET BT A¢Taoa oot Temmamt
aeot eEAR weofAg RTEEM ’oY wrt T'we, wdae waes ket drag war JEmR ctuaTeae n Agmt 3oem o g
stwemaotas wnesat 'y wet weof wrenet 25 5zr 58 Bwet |




TG AT e Yfe f2ear e fERn:

1.A 957

= N T o

1) 1
(2) 2
(3) 3
(4) 4

IIe e T RE- R RER Y@l D 02 MFef 30

A. TR AR {92 ST

B %&W S-S DTSQTF AT

e

C. a3 (il e Zear
D. XT3l P 32 T

T vl
o w00

£0

A. cR-crMf ®yrEfmt wam 2f3
B. RIT%30 TOR-ToOR RERtemmant
C. Rfwszr eofurt wau 5Ts
D. coa-zrmt Efasmf nam seE

R e At THRZ %2

e PV S

1)1
(2) 2
(3) 3
(4) 4

ﬁ}m.}

whRom C
wrReom C
TReOm B
TROm D

1[Option ID=1761]
2[Option ID=1762]
3[Option ID=1763]
4[Option ID=1764]

Sl. No.92
QBID:135092




SECsr S RITTed 2ERT a2 FR S AR o, SHrg CAERy, Sy e o, S (Rens S

TFTA] AN AW CAARRN SRAL, TR, TR, (BRI FIWE Tq AT AW AR GIFAT [N T B

CERF T | (TN CSTGRT STawaisll BN SW (SIS CSTSRT METIAN (A 402 TIv1 (TS (IS RLToIaN wee FAr

e BT CERET | SjewT T SToral @391 WATCFISA BeT (U w OEal fATTes Srye ABHe AETHE 2R Segel we

ST S AT A HACAFITA &AW BeAT CUTRRT T S 624 (TR SR i G (2N (O, A6 A
CofTeifep Sy SO ST ST ST IS & ¢ brear e ™ Tl wew TSP Taisal Y23 @R bRs Al 2y
g ferendl (ol fReaosg YEymear OiRRAwsl e gEel]  Y2mEer Rorery oiReE]  woww Riresg
YL o ST QT AGRN TYET ST SHERT TN (G (ORI, AL, WY G2 (AR (O, Fedl T, 2Ll
5] T (T, SIS T F AN B SIS T ST 512 AL S (A (T | W (LTI T A
S OIS R STE/+12 TR AT ST STT Zeq1 Tl | B SR SITo12 SIS 71 FSTAMT CIpHATaN
fATToR WO (AR SF S SHoIuq! b EFamal ¢ff eams W= M2 TR SCAF, (TTeH (ST 3

(TR €34T (PRE ZEE | SO Srx2 ST FRITos*eg (N2eRM TR Sl S S« Zaa! TG T&ar T241 |

REW TRAFA II7Na 258 RTSEM ®IG wote RRws WIsers, RRrs A%T WIALrs, RRRg 0IATrE
ThAt RETRT ’IRAET #AlUga Torets wiz, wmts, 7furs, ¥owT maart meR Stear CRal ReRofiaz sirear
RiwFMt RETw 703 ZeTawf | @t wdaes crarmf 7erst Trat wae wdaez m/icssret ofont wan siean
Wiz waies Jfewent RUn | ke Rofa Atz ZaT%t | RCOa ROT TREY ThE RMEDTar RSC % CrahF
241 E Tfews TROW SBCMN 25091 2%E RIS ’eyd wef weof WeoRe Bme ems'Tea e acfal RS0 %N eras
ERE°T WRERF TRC dage I eOrRTst ©of el ZER SeEs, ROT RECE MYoTr! Tral &L RECZ /T RE
ROYTl I wet wef mef REr weergR Sat M e Ral sea Tl erotla wateonm TREE et Rarf wafeie arRg
AUAErs Furwtza stwewas watontweotur Rotetzart amextzet 2Zeectn watontreofur %3, 're RS54,
Atz wato et doas, RS %1 WO PRE Errgmt #taf Wsas 'Ol WEr Xaf afofn wr 7 er 2wt
TAZ TOMT cRefla ReW'Rr Jasaonaal SiRenar 2RCii eI Lrtar mof ERga Afoar 2mefn watesmt
TETIMA WROD ERMIACOE ORFAlA CORNS M Ifena CACERT U0 TE Fa RE T BT Ae¢nans RotTemmant
aeot eRAR Tofar RS ’oY @t $'we, Y waes ket doas @0 EmR ctiaTeas | Aamt Ueem e mE
Ttenaotls wuesat koY Wer Wof WRERC! ZR0 E20 58 Eref i
QAN gL T SSTIAN T THF TS & 2T TS

A, *TE-CYIRTAT

B. fRIzaby

C. ZqrR-CaH

D. FEfe-FR e
ST el THE A

1. A SrFe
2.B w2
3.B R
4. C &g

1) 1

2) 2

3) 3

(4) 4

oo nw




Re-mgmt Rl BEC R TEr toa ROT T T%E REGHE

A, rier-w"rE
B. ot e

C. zgu-z'rt

D. 2rrtm-2%eo™a

xR e @t WHARE % e

l.A wrom B
2.B wroom C
3.B wroym D
4.C wreom D

1) 1

2 2

(3) 3

4 4

1[Option ID=1765]
2[Option ID=1766]
3[Option ID=1767]
4[Option ID=1768]

Sl. No.93
QBID:135093

LSt SrEaEW! RICToR 2T MeTI00 TR Sy SR (o, g (AR, Sy e 4o, S (] o
Sy i

TEeZAr S AW (WA ORI, SR, B, (AT FEE S9 A Sl S g O S Swet 2
(2R | (TS (STGAT STawaall bRl o (STG™ (TSR METN (23 402 vl (OTe (SgFRT Reaowdl 6w
TR 23T (R | ST T STra] @ 33T WHICEIHIT BT (e ™ R4l RTaes pjs MBS TR 2R a3 e
Tl G G Tl AARFIG] &7 BIe= CUTRRT A0S Sl @2 (TR OrHN @ i G (ZF (O, T W
CoATRHTEF ST WO WERT S5 Tl S S ¢ brea camae W TR Twew LSCAA ST YB3 Sl 5Rn 42y
g feeedl creafaml Rrresy YRy SRl aeafat sre] Bt fRrrery o] o Araesy
SYEERT o1 AT QAT ST TG ST GHIET FEA (G CORT, IITT, T S (PR (ORI, Mool TG, Zeaa

T W (oA, eI I TR T TR ZAN STHAT I G AT 5Z TR Sl (FH (T | M (TR TR I

B TSI RG] T2 TN AT &I R o1/ | 4B ST S G4 71 AT (ARG
TRITTox WHTFSAT (ISR TRFe 2T SIoqsq B2 Eaamal ¢fF eems S MeTTal F- IR, (96 (AT

(oA @2 (e M Zad | SHOS! OrHe SrHed RIS (AERM T8 S S Sora i+ 2! Te= &l F250 |

REW THREFA IfNa 72%E RTSEM R Wote) RRRs MIAers, ’RRs A%T WIALrs, RuRE UTATrE
WAt RETRC RIRAEC #AI0Ea T'OCats TRE, TWs, 7Ors, 7o' mxant R Sear Thal Rewoflas srear
RIRT RASE AI0E Z@Tayt | e wdaes eraret st Trat srae @udes /essrt eofumt wvan siear
wallz wdaes Sfewert Bn |y ReeRofF AMmE Zamwf | ’UOF ROT TRGE T6E RMEDTaAr RS0 %eErave
FafE Tfews TROU 250l 2500°1 2%F RISt mey wef @of WroRe Bme ens’ Tearse a0fal RS0 ueras
ERE-T WRRRF W'RT dag- i wourkTyt ©of wof ZER Ees, ROT RECE MYoTe! Cral &L RECZ /T HEmf
rogrt | oot wof mof A9e weergrr satEet keral geaemmt erotina watonm ©Res et Ramt watoic arrs
Atursers #uewtza Ifwwas watontreotur FTtwtzart Smewtzet 2emet i ratonfreotor 557, ke w9a3,
wtozw mate ket dras, RTBEM A%T TROD MRE Ercsi #taf T5as ROT TR0 750 etofl Tk 7 er 28wt i
TAg W CROMIZ REWSE Sasgaoaal Hienar 2uCiu ergeTv Lrar 40f ESga #fuar eoefn wafrosmf
AT WM BERIWAGE ORFAA TSR Ifena THGERT CUINTe Fa RaT B0 A¢aoad oot Temmant
Mot SHAR WA RCBEM oY Wof T'we, wdae waes ket doag wRr 3R ctuzsTeae | Agmt 3oem o s
stwemaotas wnesal 'y wet wof wrenret 250 5zr 58 Bwet |
SIS AT YA ol TYET ORET SR

1. 22l Ff% =1 Comawai
2. OpHE T‘?}T aske _Qs_".ilﬁ,‘fﬁ
3. IR 3 T2 WA TSR

4. By Reabag CAReal ]




(1) 1
(2) 2
(3) 3
(4) 4

REETM SIRET W0% R AR Ryt Ryl smt raral:

. Atuzw mato ket doazamt

. THRZ EMf 2% Hanf

. RE=F 92 TRYD RIVE ScxAzaMt
 YEtORRECiNT Tenas ToaTegart et
1

(2 2

(3) 3

(@) 4

D =

S

1[Option ID=1769]
2[Option ID=1770]
3[Option ID=1771]
4[Option ID=1772]

Sl. No.94
QBID:135094

TSl SR RITTOd 2R MeTI6N T T NN CAeEy, Sy CATIEER, Sy e 4T, Ty (e’ o
TFEETAT S A (R TR, T, B, (B FEWE S A S WA SN S Swe 2
(AT | (ST (STGRT STowalsll 5] S (STEH (STSRT METFaN (A 402 T3l (Se (OTeaT RLToRaN Teg F

SCETRAT BT CZRET | SIeHT S STia] @ 3T WA BT (HaRe S dl AT S ASWe @S 2R 86 e
T G SN T AT & BlemT CUTRRT A0 W 9% (PR STHNE Wi G (ZFW O, T W
CATRAIE Sy WO W] ST TS Sl ST brear cxiERe s TR el ST TArIaT Y8 SRl BEs Al YBye
g feremdl (Al FRTTesy YRyl SRR ARl gmel]  YBwEer Roresy oRked| woww Rimesy
TP o1 AT QT ST TG ST THIT FN (SIS (IR, ICITAT, T ST (IR (ORI, Mool TG, Zeqs

TR R (A, TeTIAN I SR T AN 2F STV W 9T 512 AR T (T (T | G (A T IAT T

B THGIIAN RG] T2 TN AT &I A1 o113 | 42 ST Sz TR 71 FGA T (ARG
TRITTOd WHTFSAT (ISR SRFE ST SROIEq B2 EFaWall ¢ e SR MeTIa0 TR IR, (TT6H (O FRT

(TR BT (R FISZatd | SRoS! SrH2 SrHa RT3 (FeRT SR O ST Seraf g wem= 841 w291 |

REW TREFA LN 7258 RTSEM G Wote) RSRs MIAErs, ’RRs A%T WIALrE, RRRE 0TATIE
Wt RETRC RIWHT #AIUEa TOrats WRE, Tmts, 7furs, X0 maan e Slaar Thal Rawofias sirear
RIRT RATSE A(0E Z@Tayt | e wdaes eraret 7erst Trat seae @udes /essret eofamt wan siearn
wallz wdaes sfewert  rn |y ReeRoff Afmg Zamwt | ’U0s ROT TREE ThE RMEDTar RS0 Yeerave
Fafz Tfwwe TROU 20l 250" 2%% RITsenf me¢ wef @of WoRe Bme eny’Tearse a0fal ASr w eras
CRE-T WRERF TRC dage i uo-OrkRTdt ©of ol ZERF wfees, ROT RECE Myortt Tral &L RECZ R/ CREmf
et | wet wof act REr weersrs satrmt ke Fat sreemml erofua retonmt ©RTE AAf Rart wafoic JaFRE
Aturers #urwtza Ifwwas watontweotor Ttwtzart Smewtzet 2emetn atoxfreotor 7'z, kre w93,
AtOzw mafe ket deas, RTBEM A% TROD PRE Ercgi #laf T5F8 ROT TRC 740 efofll Tk BT 2awf i
TAZ WM CROMIZA REWSE Slesaoaal Hiengr 2uCiu ergeTv Lrar 40f ESza #fuar eoetn watroswmf
AT WReW BERWAGE ORFAA TSR Itena THGERT CIMCTE FFE RET BT A¢aoad oot Temmant
aeot ERAR WA RTEEM B0y wrt T'we, Wt waes ket dras war ZEmR ctuaTeae | Agmt e m 5o mE
stwemaotas wugsal /oy wet wof wrenet 25 Bzr 58 Bwet |

RITBIT STEmT AR o @347 A

1. T CATIE T 28131 AR

2. 23T CARAISAT CHIITRIeT FAMN S ST ST
3. THE AN S0 COMAT ST (T

4. g ceniee A AR [

1) 1
(2) 2
(3) 3
(4) 4




et ’icka Mals kaTEE Mearal:

1. Ri%HZE M LAGAT T 58 M R
2. ptwsa Trurats Xov T WRmt AR RIMT S
3. WHARE EMT WRRE AT RIRRE T TATE
4. BtRRg Soofm MIT g @R mms mm e
11
() 2
(3) 3
(4) 4

1[Option ID=1773]
2[Option ID=1774]
3[Option ID=1775]
4[Option ID=1776]

SlI. No.95
QBID:135095

LSt SrEaEW! RICToR 2T MeTI00 TR Sy SR (o, g (AR, Sy e 4o, S (] o
TEeZA S AW (A ORI, SR, B, (AT FEE See A Sl S O S Swwt 2t
(ZRF R | (ST (STEFRT STowaisll 51 SN (STeH (STSRT MEIFoN (AR W02 TFv1 (Se (OTeaT RLToRaN 82 F

e BT (ZRE | ST T¥E So@] @341 NATFISM 518 (Xaae s SRal RITTed Ssme Tz asrae grer o3 S

Tl G G T AT &7 Bre=T CUTRRT A0S S @21 (CRE|  SrHN @ S G (ZF O, T W
CATRAIE Sl WA T ST T Sl Sl @ brear cxrRe s TR Twaiw ST TrIgaT Y8 SRl bEm Al YBye
g foeamdl (A RTaesg YRyl SRR ARl gmel]  YBwEer Reresy oRkiel|  sowmw R[imesy
SYCAATT o7 ST YR NG TS A SHeR1 Tl (Gl (ORI, ITIAL, §Y &2 (A2 (ORI, Wl Tew, Zeel

T W (oA, eI I TR T FEARN ZAN STHAT IHRE ST 52 TR Tl (T (T | MY (ITHARE FRAHAT T

B THGIAAT RCTGH] T2 TN AT &I R =113 | 42 ST Sz GRINIHAT 71 FGAT (ARG
TR WHTFSAT (ISR TRFe 2T SIoqgq B2 Eamal ¢f e S MeTIa0 T IR, (OT6H (O HRT fa

(oAl @2 (e FLTad | SHOS! OrHe SrHed RIS (AERM T8 S S Sora (- 2! TG &l F250 |

REW TREFA LN 7258 RTSEM G Wote) ReRs WIAErs, ’RRs A%T WIALrE, ’nRE 0TATrE
WAt RETRC RIRAEC #AI0Ea T'OCats TRE, TWs, 7Ors, 7o' mxant R Sear Thal Rewoflas srear
RIRT RASE AI0E Z@Tayt | e wdaes eraret st Trat srae @udes /essrt eofumt wvan siear
wallz wdaes Sfewert Bn |y ReeRofF AMmE Zamwf | ’UOF ROT TRGE T6E RMEDTaAr RS0 %eErave
FafE Tfews TROU 250l 2500°1 2%F RISt mey wef @of WroRe Bme ens’ Tearse a0fal RS0 ueras
ERE-T WRRRF W'RT dag- i wourkTyt ©of wof ZER Ees, ROT RECE MYoTe! Cral &L RECZ /T HEmf
rogrt | oot wof mof A9e weergrr satEet keral geaemmt erotina watonm ©Res et Ramt watoic arrs
Atursers #uewtza Ifwwas watontreotur FTtwtzart Smewtzet 2emet i ratonfreotor 557, ke w9a3,
wtozw mate ket dras, RTBEM A%T TROD MRE Ercsi #taf T5as ROT TR0 750 etofl Tk 7 er 28wt i
TAg W CROMIZ REWSE Sasgaoaal Hienar 2uCiu ergeTv Lrar 40f ESga #fuar eoefn wafrosmf
AT WM BERIWAGE ORFAA TSR Ifena THGERT CUINTe Fa RaT B0 A¢aoad oot Temmant
Aot SHAR WA RCBEM KoY Wof T'we, wdae waes ket doag wse 3R ctuzTeae | Agmt 3600 m oo s
stwemaotas wnesat 'y wet weof wrenet 25 5zr 58 Bwet |
SRS TR TR FIRf-al W (oAl @2 SRR

1. GIEpATEEN RTana SR mEamal

. SIS LAY * T (eifEwa

. O T AT G

. SR -SRI S el o
()1

(2) 2

(3) 3

(a) 4

B W b




e Zercya If e WHRCOW 2RCITMm Rt 207z R SATY gal:

1. o wmt ot ster FHoof Temmamt
2. fgwmt Teena ers eomyf gamt
3. zatwtoomt my meer Ewtgamt

4. wr'z mA-weof Ut RO Eemmant ot
1 1
() 2
(3) 3
4) 4

1[Option ID=1777]
2[Option ID=1778]
3[Option ID=1779]
4[Option ID=1780]

SlI. No.96
QBID:135096

AYEEA SR LA A (A MWLYol FoIF Tge T SR SN (RIS NYFEAN RS S L A AT
AN FFRY S AT WA WS, AL NG (W72 G841 Aefera) Seog2 AGwyal S8 Ty (F72 @21
AT | FZRA S S-SR G2 IR T T SR WY AR S-S AZARA NG S FGEH
SRR B SRGTE S E ASATE | T AL T WHSES, e oG G 5w cqme, 22, oy, B

wEPje AeTIT SN BTSSR e SRIE-SIW 2wl WS (AF2 | SIS FFSIA ST TG YA CCHA

SR AT bl “ (PRS2 (e (5o “FICR” TRFN FITHTRI] “FAL* AP “FAR 7G| T4 L7
TERRYAT ARG @2 NERFRW] bR T | I NSO AT AFI7 TR | XA (AR QAL 52T ol FIA
XSREG] FTEH AT TEOFO! ST TLFRIAN el AF =] ST Fife FAF Soieg=l AAY (4, FTawwra S0
GIGS SRIFRT (e 2P SF (AIRET SUSRL™), IGEH Tamwal Sse NAAea SR e, ARSI EnE-r
TSR T2 AFTSoT, IFCAHIR (I, ([EET-TTE, FEG-FLAEnT IR SR F e Seegemi Aae 42 08 J#! ¥%-

=

(RIS CATAE SRR O #F 2o | FR T 261, FLoEl €3 ool SIeer “7q CRb-Rv! (TaEm AFeR
4T ARTER 2T A | (AR S FGwa 08 | (ol S qEeaT Fga Seme I AL T Aol ACF A Ol
AR TR T RTTNT &I Tl A ATAT §F SR XA Gionl F1Q ST F 2ol T (O | S LT
CRZIN I 22 FRAA TAI O TS| S AT RGBT LA T (T TLI2T LI TR 5
IR AT @ BT AT <F-CATBAN N 2 AT peraCsl AN Sl 22 & A2 |

RABZRT TaTol Xad MRTT 2430 %51 T Rl RYO5Er WeoR TOF 7 120 FARZRT I me TR
YErZE %I REW worRaAMAl RAWNZRE WERT WofDTT %ZSa W 35, W°0E RAWEE (MO WRC IirrE) WD
CATRET TR RAWEE (NN WSET Mers) | TAEEM wofar wme-wi ™ %2 Aat fD Tk TROD BF8 e mme
TA"E-TYF PRAZTM ROCOa PR BR-I0RC TROD AfRes FII2STRT ROT CEET5EI RITRN WEZRA(E £RRE
ANy, mefrg-watoft wawcty ®ofr T 52, ootz 3nw, ofFat orown /esz meofrt wd mearofort
Rt WE"R-TRF CRAC COMRT Tk Trioz oatzeM T 2wz ware aewrf “attise @ra”
RfIwEr “mea-anz en” Trent “EFoR” RAmst Befaomft “emEe” TWROT CmRe OFTETI RCImET™ NRE- LI585
RAEZEM COAfREM TRF RAWZEA W23 waatl fRne mAYa«mt matU@ TREse ATRIS ) omRmst meent
weigeotme wAT 2 Wt OWETRT 2UmE ARRE BANGEl WRaTE RARERT SRarl TIeofer | amye cort 5t mhe
wyeazziv et Wat, erarmt Tz 2wl RAHZE (CorT BT WE W7 BRIUERE0), 87005T SRART WO
raTotort welzofort Refre, me2zmt oA AR WROD MeTneg, Fracomt @0rE, FAS-aviTay, WImesy-
ptledm Retofomrr mat #fzr wiusTet meen ettt sz Rt Yws-57581 CE<m ME TIme u mgat cam e st |
Wzt RORUT Z%CE, RURrrt W2 wefrenf #2773 waq WAl ess weass M7z s Ya® ML Uret 25ga woruset |
claew wotwRwmat Ezag weme ) ettt wrRofunt mume TRon 3T matfu TF keE fwns 22 wr @t raus o
TATW @IME fZterar ME'Tm OFE TeofMarret kefmet 2ufc @t ©ofa mse eRe W' Icwaset | Tag 7RE-
TREM Nat MO e 36 AREaal B ITRT T |l TAre) RETy ’T S T 25 Tm ’OT 2%t 3 RAmE T A5t
NER T TatE Nt OWER WiEe TR0 WRE-THaT Ratmt UR %FC Xeasn 25gan Ta3 17 R 2%

RGN T2 T AR

f—

. T AT S 2T I AR TR
, [T BT ST T 129 TTFE
SIS TEREIY T AT TR

]

8]

SIS ATECTE Y SIS WY Sl ARy #|

B




(1) 1
(2) 2
(3) 3
(4) 4

Ne-mEmt RUO%EEE RPmzRcfual

. TwE T wEE Aat o kAR

. AtRES ROZSMAT ROT CET RABZR

.0 RAWER TROD ORIREM REEZR

. PP BXCTMR WATE YR PEAE RAWEE gl
1

(2 2

3) 3

(4) 4

D =

I o

1[Option ID=1781]
2[Option ID=1782]
3[Option ID=1783]
4[Option ID=1784]

Sl. No.97
QBID:135097

TRFRRE WA W (AoF (R W T T2 T SN O (QEFAT TEERIA AL TAF 459 A AAF
SCAANT TRFRIY A AL ARCAEAT AE, SN TRIFRT (Wof2 @31 Aeferdl) Sy AGpal 631 FGFG (W52 @31

AR | SZRGT S G- SR €33 JE WAL I TL Y A AFI2-SLT AZAA WA SN RS

o~ s

T2 TWET BIETCHH WG A199% 2 | RIT ALY I ARSI, Bferae-SfTHE Gt |5 oA, g, oy, T

=Y = =

g WeSI AN ST ArTEEE S AL AT HoNGA (FFL | G AL GI NGFRIA AR GO

-]

ISR TFR SEhl “CoATRCIRE (A8 04 “TIC8 TR SIS T “FGALH T2 “FoR 78| FEr7R90 49-C12d!
TERRGAT ARG G2 TGN 5 MG | T TSI AT UG ZIFaE | TG (AT ACAEAT BRI ol FI
XSREG] FTREH] AR TSR ST ATFRIAN Tavensll FF=d] ST Fife FAF Soeg-l A (FF, Toawwan S24l
GIfGA SRIFRY (e 2 F (FIReT SUHRH™), I Tamwol G2 TASEIea xR e, AGRST Ener
COIITERIET T2 Ao, IR (I, ([E-TTWE, FETS-FaRn IR F e Seegeml A2 2 08 J#! 4%-
CRITZST CATAS SR ST #aF 2o | F IR 2SI, FLai=el @3 ool SIerar “aq CARb-Rm! (TaEm! AFCeR
AFOL ARTER T A | (TR S FEWAl A0S | ol S EaT I S I A O Towall A Ol
T F SGTZTTNT ST el Gl TR §F Sovalmaid See] GioeT 19 Sl F2e oo (Omae| oW <7
CRIZRAA T 72 TR TRRAW ST 0@ | a7 FL@ T MG ZCATH FRCAHT T8 (-1 TG 2 O] HRIFRT
IS R G T AT LE-CAZN 90 AT A poa<eal ZIAAgal S| 7L oo %% |

FRABERM ATl Xad MRIT 2asr %51 T Zemt RUOEEr WeoR WOF 7 T2 FABZRm U meg TR
YErz %I REW woRAM Al RAWZRE WERT WofDTT RS TN %, W0 RAWER (MO WRC IiTrE) WRO
OAtEET WEE RAWER (RN WSET Mees) | CAEsnf wofar wme-wimf ©52 Aat RmD Tk TROD ka8 Sfamms
TE"E-TYF PRATT RTOZ PR BR-I0RC TROD AfRes AII2SMRT ROT 0TI RITR WMEZRA(E 4RRE
mANaY, mefwd-watcofe narctn koft It B2, ooofz, @Rw, ofFat oroo /esz meofrf ©] mearctomt
Rt WER-TRF CEAC COMXC Tk Triog ortneM Tz krwze™ %arc aew ™ “athise @ra”
REIRET “Mea-@d%sz S0n” W m “ESoR” RAmst Befaome “amgr” WOl “mRe OFTE I RCTMET TFE-5 53!
RAEZEM AR TEE RAWEEA Wi wadgtl drRwE mAYamt matls TREs AWETe | omRmt meewt
weigeotme 7AT Z Wt COWETRT 2UmE ARRE BANGH RaTE RARMZRI SRARE TIfer | Amya cort st mhe
wwazzit oot wat, erarmt Wz 2utmf RAEZE (o BT E W7 BRI E0), 87005 SRART W
raTofort wolzofort Refvre, me2zmt oA AR WROD meEng, Zracomt @0rE, FAs-2viTay, WImei-
eleam Retofomrr mst #fzr wausTet meenm eteofu sz Rt Yws-575s1 Caem mME mme e mgal cam e st |
wWal RORTT A%CE, XORFM W2 RefTwmt %278 waq WAl esa weasa MI7A s %a® ML TRet Z5sa T mset |
clem oot Rmmat Ezag w65 | meent w2of i mone TRom T et TF kR CwWms 22 50 mst wiusTmto
TATW @M o eferar MLIom OFE Ceofetakmset kefmet 2ufe @t wota mee eke W Iewaset | Tag %Rg-
T'RE(M Rat "M Ea 36 AREaal B IrRT T || TAr ) RSl BB e 2 Tmt BoT 2%t 3 kA2 man Z5gmt
AER T TatE Raf ™t OWER WTEe TRCM WRE-THa T Ratmt mR RFC Xeasn 2Z5gan Ta3 17 R 2%




SCHEAT TERFRT (IR 92 D) e

AL T
B. WETEEe
D. qFMe
T el Sy 2
A EEFER B
2.B 9w C
3 & & ngi D
4 A W C
(1) 1
(2) 2
3) 3
(4) 4

TrUE RAEESE (RMD T°5C SIErE) ofia:

A 6F30

B. r73a
C. wafeof
D. Zo#z

R e At THRZ %2

—_

A TROTD B
.B wrRoom C

[

%]

.C wReym D

=

A wrRom C
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=1785]
2[Option ID=1786]

3[Option ID=1787]
4[Option ID=1788]

Sl. No.98
QBID:135098




VRPN WA W0 (ASFT (AR WE|Tor o] W92 TA SN SN (ZEEAT NEERTA A9 GuF WA W | WHE
SN FEFRE WAE SRR AR W2, SR TR (12 G2 AN T2 AT €2 FTFR] (72 GTT

=

AT [SERA S S-SR G2 FA W SR AL AT AGAN] AL AL RGLAT SIS ACGT NI

o~ S o

TR EAIT PRGOS W% 232 | NG G I NSRS, TR SfCAR YaH | W (R, R, oy, Ha

= -

Py AeST Al S AT S Srae-Srdw ALHAT *oIge (FFL | SIS ATLOREN GST AQFEPA AN GO

@

—

“ASI2 TFRT oDl “CIATTR (A CoIhal “FIe TR SIS “FGILH T2 “FaR 789 | Fr7750 49-cUi2st

—
g

TR AT @2 TTFRT BR WA | R TSRO AT UFIF TR | KT (ARl SRR BT T A
XTSI AR I TR SBR[ TGRFRPEN Tmaell TFHCT| ST FAMe FIF 5o g TR (I, Tl e2qr
GG WEER] (TG 3P OF (FCFE SCHRILS), ITE FTawsel e TSRS SOaREE e, AYRST g1
CERET T2 ARSI, IFIHE! (N0, (LWL, FES-Fah SRR e $i4 Zore we g 22 e 08 T&i W3-

(RIS XA AT T2 #1240 | T 251, Gl @31 ool OEter $qq CARbaRw! (TaEm %2R

2T AREEN TR A | (TR S TEwal 0s | (ol S qHI2aT Ty T2 I A2 T Towall A Ol
AR FR TG RTTANT T Il G ATAT &F GANMAF X7 GG TR GAGT F ool ool (O | T 27-
CRIZIN T T2 TR TRRAM GO 08| GW3] A NS ZCHIF TS T (TR LA AN O] bRl
QRN *RFF @S] AT LF-CASA I3 T A ATHT pera<esl LAYl Seed] 12 o] IS g |

rAmERM waTof Xad MurT eFEe w1 TP Zrmt RYDETT WeoR TR A 2 RABZRT UTme TR
YErz nnl REH woRarfal RAWZRE TR CCfDTT XEATW %%, WrlE RAWZE (MO WST LfTrg) Wwhoo
CAtEET THF RAWEE (NN WST Mees) | TATEM wofar TEe-Ti ™ T2 Aat B0 Tk TROD K73 e mme
WH'B-TRF CHAZM RIDa WRrt SXORRC TROD AtRES TOZSPRC ROT CRETSI RITW MEZREts 4ReE
RANY, Befwg-Walofe warctn koft IT E2, wOOFE, RRW, offal CTROD &5z meof™f ©f measotont
AR WE"S-TRF CRAC CJMRC °0%I Trieog oRfgsEM T3 RAuzzrt %arr g™ “atise s
RfIREr “Meaedswz e’ T “ERoR” RAmst WefFomit “amErs” WO CmRE (ORTET I RCTMAT YRE- L3
rAmEZEM COAfREr WEE RAWEEA 7agEc wagtl arRwe mAYda«mt matwa TREse AwRTEt ) orrmst et
woictur 7At Ze mRef Omerne 2ume fRRE RANGYEl TR RATERM eRarw oot auwe oort il mRe
wyerzzit ®meots Wat, craRrmt TEz 2utnf BAEZR (orT BT TE 2 W7 SRS E0), 87005T SRART TR
maTotort wozotont Retvre, me2zmt AT BATRT WROT MaTamwg, Zvacomt 200, At-2wnitad, WIm-
ETEd ™t Reteotmmar met #tzF wiusTmt meen etefm sz Rrmt %FE-3°5s0 Ca m METme woeugat g e wet |
Wzt RORIT ZBZE, TURFM W2 RefTwmt 9278 waq WA Csa weass MI7A 8 Ya® WL TRet Z53a Weormsrt |
clarem oot R At Ezag 65 | meret wrRofmet mome wRem AT el TF kRET fwma 22 %r mat waus Tt
TATW @M cofefergr me’mm O3 Tofmtarmrs kefmet 2ufe @zt wota mse eke @ Iewaset | Tag nRg-
T'RE(M Rat "D EaEE AREAAl BCITRT TG | WA ) RO &SI T 25 Tmt 'OT 2%t 5 &R man 2Z5gmf
Az T Tats Rafmt OTER Ttee Ieomf wRe-TEst Ratmt BR RFT XraEr 25gan TaE 17 TR 2T
T3 List I 9972 List 11 21 5FRT AT

ListI  ®[34l List IT =1i3faa
A |ete I [aaass
5 (@ 1 (e
33 : 5' . ¥ :?-’
D. TICE f AN | [ I -{i G (S
T S ST <

1. A-L B-1V., C-1I1, D-1I
2.A-11, B-1I, C-1I, D-1IV
3JA-IV, B-II, C-1, D-1II
4 A-TII. B-1. C-IV. D-II

) 1

() 2

3) 3




Fy et List I @reom List 1T mf oz mis:

List I T5% List IT 25
A |y L |mRe oFIE
B. ||H?rarﬁr_s I |#fise et
C. |RfamE I |[ESOw
D. |AEwe V. [mea-@ke e

Mt wofzAmt THRE %1

LAa=L | B=IN =11 Iy=II
2.A-1II, B-1, C-1II, D-1V
3JA-TV. B-1II, C-1, D-1II
4 A-TI1, B-1I, C-1V, D-T1I

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=1789]

2[Option ID=1790]

3[Option ID=1791]
4[Option ID=1792]

Sl. No.99
QBID:135099




TEERPT G GqW2 (ToF] (TR TRT90 oS! WYL T Oojw WW (ZREFH TR e TS UTl TR | EeE
SATWAN FERERT WAF SR AR TS, SR WH’ 7 (WHf2 @2 W) e ASSRA G2l NGIFR) (AR G2
AT | TR G S-SR G2 IR TR T TR A AR AT LA NG S AGAEH]
T2 e SRETESN! W A1eqe | R AGER I yeRe, eme-efEAW N | o, R o, P

Py AeST Al S AT S Srae-Srdw ALHAT *oIge (FFL | SIS ATLOREN GST AQFEPA AN GO

—

ISR FCETHT Bl “CPIRSIRE (e Copa “FIEE" NRFN SR “FGIL* T3 g 7| Fe7@3h 47-(U2S
TR ATl @2 FLRFRT bR A | AT TSR] AT I TR | AT CAE ﬁm‘u_ “2oTr 5=l gor T
XTSI AR I TR SBR[ TGRFRPEN Tmaell TFHCT| ST FAMe FIF 5o g TR (I, Tl e2qr
GISS TRIFR] (e 3T F (FIeT SCHRL™), AT Tl e TRISa SeRiEea e, 2GRS N2
CITERTT SRT2 ARTSsTS, IR (I, (AZET-TEE, o FraiaT IRee ™ $ o weegam e e o8 T# 9%
(RIS XA AT T2 #1240 | T 251, Gl @31 ool OEter $qq CARbaRw! (TaEm %2R
AT ACARES BT SO (HTEe S Fewal A0 | o ST TR S e A oW Aol AHA O
AR FR TG RTTANT T Il G ATAT &F GANMAF X7 GG TR GAGT F ool ool (O | T 27-
CRIZIN I 2R FEIA TR ST TS| AT FLT T NGZTARTT LA T (TN TG TR TR 5
TN AT G2 AT LE-CATBIN I T AN RS AN e gL G AL |

rAmzRM waTof Yad murr eaEe FlFII QM Sl RRORCT WORF TOF 7 IS RREZEr orT' D TR
Yerz %% Red worRaMAl RAWZRE TRT TofTTT REA T %%, T°UE RAWER (RO WET ITCE) TR
COAtREM TR RAWZE (NI TR0 Mers) | TATEM wotar Tae-Tti™ ©%2 gt Rl Tk TROD kag St Tme
TE"E-TRF PEATM ROCOa TR SROmEC TROD AfRES TTOZSWRC ROT CSETSI RITN WEZREtZ £RTE
RANY, Befwg-Walofe warctn koft IT E2, wOOFE, RRW, offal CTROD &5z meof™f ©f measotont
RAFIOIT WAB-TRF CRAT MR TR WrioE oM Tk RA@zzM warr agw®f “aiisr mrea”
RfImEM “Meaeanz 2w Twert CESaw” RAwWE Wetacmtt emEe” TROT CHRE COFTETI ROIMET %FE- T 5
rAmEZEM COAfREr WEE RAWEEA 7agEc wagtl arRwe mAYda«mt matwa TREse AwRTEt ) orrmst et
woictur 7At Ze mRef Omerne 2ume fRRE RANGYEl TR RATERM eRarw oot auwe oort il mRe
wyerzzit ®meots Wat, craRrmt TEz 2utnf BAEZR (orT BT TE 2 W7 SRS E0), 87005T SRART TR
maTotort wozotont Retvre, me2zmt AT BATRT WROT MaTamwg, Zvacomt 200, At-2wnitad, WIm-
ETEd ™t Reteotmmar met #tzF wiusTmt meen etefm sz Rrmt %FE-3°5s0 Ca m METme woeugat g e wet |
Wzt RORIT ZBZE, TURFM W2 RefTwmt 9278 waq WA Csa weass MI7A 8 Ya® WL TRet Z53a Weormsrt |
clarem oot R At Ezag 65 | meret wrRofmet mome wRem AT el TF kRET fwma 22 %r mat waus Tt
TATW @M cofefergr me’mm O3 Tofmtarmrs kefmet 2ufe @zt wota mse eke @ Iewaset | Tag nRg-
T'RE(M Rat "D EaEE AREAAl BCITRT TG | WA ) RO &SI T 25 Tmt 'OT 2%t 5 &R man 2Z5gmf
Az T Tats Rafmt OTER Ttee Ieomf wRe-TEst Ratmt BR RFT XraEr 25gan TaE 17 TR 2T
TI% S AITSFAE bb eg] 49-CAZI] (FFAM:

1. T RSS! @351 TR 7wl
S P DT el R Ay
AfZR ST TEF]

]

L

4. A @31 WEEEy )
(11
) 2
3) 3
(4) 4

Fwrwe cortutmRe ARazZit NRE-T R E Wa At

l. #RnE RANGYT TRat? RATZRI I ETE
2. crarmf T5E it RAmER
3. mEtunErt T5F REAHER

4. Iters W'5s RAHNZR sl
11
() 2
(3) 3

(4) 4




1[Option ID=1793]
2[Option ID=1794]
3[Option ID=1795]
4[Option ID=1796]

Sl. No.100
QBID:135100 .
WEERGA WA W (ASHFT (TR W2 T TR TG T ST SN (ZEEAT TEERTA K9 TIF WA AR | WHF

—

AN FEFRIY S G WA T2, WAL NG (W72 G341 AT Sege AGOl $ 3 TG (F72 @21

AT [SZRA S S-SR G2 IR TR O AL AN AREAN] AL ALAA RGLAT SIS ACGA NI
T2 AT SRETCSN! W AIeqwe | W AGE I qyeFe, 2eme-ofEAW w1 (A, 2R o, P
Spye AeTT AP GG AT G SRS T AEHA WG (A | SIS ARl e2 FREIGA W GO

—

“ASI2 AFCRT D1l “CITTSIRS (8 ool T8 TERER SR “IGIL T2 “FaR 787" | 77750 49-012S
TR AT €2 TR BT AE | AT RO AAT UG 2R | #CoE o ﬁm‘w, “2oTr 521 gof T
RG] FTRESA AT TLSFOR! S ATFRIAN el TS =] ST FAre FAF Soegel A (Fia, Tawaan G2
GO NERERY (TG 2P SF (ICFeT SUHRIe™), IGEE Taqsol e TRISMIET STaRMEes e, AYRST Tgar
CERET ToPj2 ARSI, IFAHE] (N0, (IR, FEF-Fah SRR e F4 Zae wezama 7132 TR 08 & W3-
CAR TR SJLARER] ST X <0 | SIS FIETGT, HERTSel S Sl SIGrRI <57 (oM e St
AT ATREE 2T A | (TR S TEwa] s | (ol S q2AT Fga T2 I AH2 T Towall A ORI
AR FR TG RTINT eI Il AT ATRAT &F SN XA GG F1E AT F 2ol oo (O | T 27
CRIZN T T2 FEREN TRRA M GO 08| GWAR] W@ ST TS T (TR AT ZEAN O] bRl
TR AT @2 AT LF-CATBIN I T AN RS TN ] 5L G AL |

mAmERTM wa Tl Yad mwnr aEe ElFlI R QW RRORET MORF TOF 7 IS RABZEr U’ Dy TR
Yerz %% Redl worraMfal RRWZRE WRr WofTTT REA TN %%, WOUE RAWER (RO WRC IITCE) WD
CAtEET T% RABZE: (NN WHE Mees) | TAEsM wofar Tae-ci ™ ©%z Aat R0 Tk TROD ka3 otamme
TH"E-TYF DEAZTM ROCOa TR SRImEC TROD AfRES TO2SMRC ROT 05T RITN MEZRETE £REE
RANEY, Beff-Walofr warctn koft IT E2, wOOrE, RRw, ofFal CTROD &RT5E meof™f @) measotont
ARl WA"H-TRR CEAC CJPRC Z°0%I Wefog OREfpsEM T8 RAuzRr %arr agw®f “atise s
RfIRET “Mea°d%wz &’ W “ESoR” RAms! Wefaome “amgrs” WO “mRe (ORI 1 RCIMET YFE-L 53!
RAEZEM COAfREM WEE RAWEEA ¥igE0 wadgtl a@rRwe mAYa«mt matwa TREs AWETEf ) omrmst et
weigestmr ®Af Ze mnef OmErne 2rmr ARRE BANEm TR RAWERM erarr rrofet i amsa oort st mre
wwazztt meots wat, crarmt ©5z 2utnf RAEEE (Tor-d BT ME &0 BREIE0), 8Z005T CRART TR
razotort wosofont Retvre, me2sat oAt BATRT TROT Meeamg, Zracomt 200, Fac-cnttay, BImes-
ETEdmt Rateotmmar mat #tzF miusImt meen etefl sz RTmt %FE-3°550 g m M Tme werugatl ogm e et |
Wzt RORIT ZBCE, XURF W2 RefTwmt 92738 waq WA esa weass MI7A 8 Ya® ML TRet Z58a Weormset |
Clarem oot MW at EZag 65e | Mot w2ofmmet mome whom 13T et TF ke fu'ms 22 %0 wat waus Tt
T @M cofeferar mo'mm O3 Tofmtarorst kefmet 2ufe @zt wota mse eke wewaset | Tag 7Rg-
T'RE(M Rat MO EaEE AREAA BONTRT TG 1| WA ) RS BT SmTT 2EmCTrmt 'OT 2%t E BR e 25t
Az T Tats Rafmt OrER e 3o wRE-TEatT Ratmt mR RFC XraEn 25Ean TEE 1F WRO 2T
TR =-CR123! 09T FRWH T IR0

B. 729 F1et
D. (4= 3 (|

A SR
B SR
A SR
C 2

o Y R B
c N ow




(1) 1
(2) 2
(3) 3
(4) 4

Ne-wzr %RE-L°5Ef Aatw Ruarrats Ratotoat:

A. oozt mAtRT
B. #ata g2

C. =72 exteaa
D. a2 ra

Fx ezt THRE %Te:

1. A wrom B
2.Bwrom D
JAwron C
4.C wroom D

1) 1

2) 2

(3 3

(4) 4

1[Option ID=1797]
2[Option ID=1798]
3[Option ID=1799]
4[Option ID=1800]

Sl. No.101
QBID:1201001

The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City .\'umli)er of Persons Ratio
s (in Lakhs) Males : Females Literates : Illiterates
A 5.0 G s 1:4
B 36 4:6 4:1
C 28 32 2:5
D 45 5:4 3:2
E 50 229 2:3
F 30 gy T3
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Afgen | FReaR
A 3.0 ok 1:4
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The ratio of the number of literates in City-F to that of City-A is:
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City Numl_)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Iliterates
A 5.0 s 1:4
B 36 4:6 4:1
& 28 3-4 2D
D 45 5:4 3:2
E 50 229 2:3
F 30 23 TH3
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it ERLIGH
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A 5.0 3:2 1:4
B 3.6 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 5.0 243 2:3
F 3.0 Bl 7
The numbers of females in City-B is % of the number of females in City-C.
1. 138
2. 110
3..120
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City .\'umli)er of Persons Ratio
s (in Lakhs) Males : Females Literates : Illiterates
A 5.0 G s 1:4
B 36 4:6 4:1
C 28 32 2:5
D 45 5:4 3:2
E 50 229 2:3
F 30 gy T3

fafaRad gRoft § av 2020 H @: FRI A-F § SAfdal &1 9= (dRa ) & 91 5oy 9 Afge 3R 9ieR I
[FRER SFUId aiRid 6 | Rl H URqd SMidbs] & TR U Uy BT IR GIoIg:

SRS T WRAR [da o

Afgen | FReaR
A 3.0 ok 1:4
B 36 4-6 4:1
(& 28 3:4 X5
D 45 5:4 J2
E 5.0 253 223
F 3.0 2:1 753

The numbers of illiterates is more than one lakh in:

1. All the six cities
2. exactly three cities
3. exactly four cities
4. exactly two cities
1) 1
) 2
(3) 3
(@) 4

TP drd 9 3HfE FReR & &6 ;

1. gyt & R g
2. Bl diF Rl H
3. 3% IR TR H
4. 31% &l TR |




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=409]
2[Option ID=410]

3[Option ID=411]
4[Option ID=412]

Sl. No.104
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 £ s 1:4
B 36 4:6 A1
& 28 3-4 25
D 45 5:4 3.2
E 50 273 2:3
F 30 223 7:3

afaRad IRl 5 ay 2020 H B: FRI A-F & SAfdal &1 W1 (|’ H) & 1 5oy 9 Higell 3R HaR
fARER oMU UafRid g | IRl § URdd 3Hidbsl & YR TR YY P IR GIIC:

SR & TRAR fdavon

= mﬁaﬁaﬁﬂ)mm T, | @R

afeen | FraR
A 5.0 32 1:4
B 36 4:6 7o |
C 28 3:4 X5
D 45 5:4 3:2
E 5.0 253 2:3
F 3.0 P | T3

The average of the total number of literates in Cities A, B, C and E together is (in lakhs)

o 1B
.0.72
. 1.08
.1.52
1) 1
(2) 2
(3) 3
(4) 4

TR-A, B, C 3R E H GHI ¥U U $d HI&RI DI W-AT &7 3H4d ¢ (ARd H) -

W b =

=

1. 1.67
2.0.72
3.1.08
4..1.52

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=413]

2[Option ID=414]

3[Option ID=415]
4[Option ID=416]
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 2:1 7:3

ﬁqﬁ‘rrﬁaawrfﬂﬁaﬁzozoﬁ@ TRI A-F H fdadl o1 91 (drd H) & 91 9oy 3 Higdl 3R J1aR 9
fRER SfguTd UefRid § | URU H Udd afibs! b YR IR UY P IR clfeiv:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

If the number of persons increases by 10% in City-B and by 12% in City-A in 2021 with respect to 2020, then
the ratio of number of persons in City-B to that of City-A in 2021 will be :

U.den—«
o

25

.5
9?:1 0
2
99 : 140

4.
1) 1
(2) 2
3) 3
(4) 4

e ay 2020 & HYar ay 2021 H fddl B G H FWR-B H 10% 3R TR A H 12% B df gldl &, I TR-
B 3R AR A H el o Y21 & dfiF 3=uTd gi :

fad

2:
97 : 120
g

99 : 140

l.

2.

3
4.

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=417]

2[Option ID=418]

3[Option ID=419]
4[Option ID=420]

Sl. No.106
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Which social media platform introduces one of the main features known as "super follows" ?

. Facebook
. Telegram
. Twitter

. Whatsapp
1) 1

) 2

3) 3

(4) 4

[T I SEAR He - 8 BIR # I U Bl - YR Bldle

1. hagD
2. T
3. fdaer
4. gICHUY

1) 1

(2) 2

3) 3

(4) 4

W I =

=

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]

Sl. No.107
QBID:1201007

Which theory and theorist are associated with learning through observation?

. Behaviourist theory, Skinner

. Constructivist theory, Piaget

. Social cognitive theory, Bandura
. Socio cultural theory, Vygotsky
1

2) 2

(3) 3

(4) 4

fafeiad o oi-a1 faeid o fGidey Tam gry i 9§ Heifid g

1. agRaATE B Rigid, RER
2. TS &1 Rigid., foams
3. ISP SRMHTHSD Rigid, 5
4. FrHISID-Hikpfdd Rigid, Al
1) 1
() 2
(3) 3
(4) 4

W I =

da

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]

Sl. No.108
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Given below are two Statements :

Statement I : The direction of flow of emotional energy is changed through the process of redirection and
sublimation from an undesirable goal to a socially desirable one.

Statement II : Catharsis is a desirable method in which channels are provided for the release of the emotional
energy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1

(2 2

3) 3

4) 4

BERAERIE A G

DHYA-1 : YATHD Foll & Ydlg ! IR difevd ded I WHISID qifed @8d Bt 3R GR:FaRH 3R
iRl UfshdT gRT uRafdd gidl © |

DYA-11 : fa¥=1 U difesd fafer g forgd Hamers Iuii (HHfad & feg difg iy yeH &1 il & |
IWRIFT BYF & 3Tl H, =i {7 U fddhedi # 9 Hel IR 909 $iforg :

1. HYTI AR IS 9§ |
2. HYTI AR I SH e ¢ |
3. HYTI A . dfbd PYA I 3T Bl
4. HYTI A ¢, AfPA FUT I I Bl
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]

Sl. No.109
QBID:1201009

What is the main aim of classroom management?

. To keep an orderly classroom

. To establish the primacy of the teacher

. To sustain a quiet environment

. To maintain a positive productive learning environment
1) 1

(2 2

3) 3

(4) 4

FufaRad @ &1-91 B UdeH ST UgE 354 6 2

1. &1 Bl YoIaRAd TG
2. 3ATID P AVl VT DA

3. Q[idl GG 0T ST G
4. GHRIHD IAIGADR] MENTH ardIaul (YRaLT) F41T 3G-]

(1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=433]
2[Option ID=434]
3[Option ID=435]
4[Option ID=436]




QBID:1

Sl. No.110

201010

Match List I with List IT

Bt I((:_:z:l;j_]:;lt;::?ocs List IT ( Programme)
P University Grants 1 Non-Technology post-
© |Commission (UGC) ©  |graduate degree programme
B i omsmyue o st I [Teacher training programime
© |Communication :
C INIOS (National Institute of I Non-Technology under-
" |Open Schooling) ___lgraduate degree programme
(AITTTE. Chennal (Hatignal Out of School Children
D. nstitute of T?c_hmca.l IV,  [|educational programme
[Teachers Training and th "
Resecarch) from class 9% to 12

1)1
) 2
(3) 3
(4) 4

1. A-III, B-1, C-1V, D-11
2. A-1, B-III, C-1V, D-II
3. A-IIL B-1I, C-I, D-IV
4. A-IL, B-L. C-1V, D-1II

Gl 11 Yl 1 9 i eifo

Choose the correct answer from the options given below:

T 1 RTEH & (MOOCs)
BLELED) :«?IIW
S — TeReE

g @) L WWGW

B. |dfew wimm ey i gﬁﬂfﬁw
VT S e R A

c. [RerdmmE@Iag | m Hige
By Uy BrdeH
AP dPIDI- DEN-9 Y 12 TP

D. |eremye Rig iR Wey | IV, (G & ol sl b

i faU U fadedi § U Tl IR &l 999 HIfeT :

1. A-III, B-1, C-IV, D-1I
2. A-L, B-1I1, C-1V, D-II
3. AL, B-1I, C-1, D-IV

4. A-II, B-I. C-IV, D-II

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=437]
2[Option ID=438]
3[Option ID=439]
4[Option ID=440]

Sl. No.

111

QBID:1201011
Use of theory in social science research is important as it provides:

1. Contrasting framework

2. Excess literature

3, Justification for research

4. Quantitative data
1) 1




) 2
3) 3
(4) 4

AT 9 2y # Riid &1 Yaiv Agdqul ¢ Riifh g WeH Hdl @ -

1. AfRP! TUAET (ThHTD)

4. AETHD 3fiho

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=441]
2[Option ID=442]

3[Option ID=443]
4[Option ID=444]

Sl. No.112
QBID:1201012

A sample of respondents which is available to researchers because of their access to the respondents is identified
as :

. Random sampling

. Quota sampling

. Snowball sampling

. Convenience sampling
1) 1

(2 2

(3) 3

(4) 4

vffal (ITRardrei) @1 oTs ufidest o [Ne@drs @ ITRerarsil d@ 39! Ugd (RN & SR Jude]
g e, SUSHEUHAFI S ¢ ;

1. Urefws® uid=a
PRCLREIPICE R RERE
3. Hidrd vid=aH

4. gfqurie gid=a-

(1)1
(2) 2
3) 3
(4) 4

B b =

.

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]

Sl. No.113
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Which of the following are the steps in systematic review of literature?

A. Search for archival records

B. Define the purpose

C. Assess the relevance of selected studies

D. Identify the quality of each study

E. Interview the authors of each study selected

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, Cand D only
3.C,Dand E only
4. A, Band E only

1)1
(2) 2
(3) 3
4) 4

fafaRad # ®17 Higd 31 ouaiyd & § UIg SH ardd =@RuTE 2

A. QU Yadl gq Sl ()

B. 35,30 Pl GRHINT BT

C. =0 [T U el St YT dl effed o |
D. U &g i 0 &1 gdl @ |

E. YD =af-Id 39 & dGh] Dl HIETHR |

Oy

i< faU 7Y fqp el H 9 968 Iugdd IR &I 99 BT :

1.$hdd A, B, C
2. $dd B, C,D
3.%dd C,D,E
4. $hdd A, B.E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.114
QBID:1201014

Given below are two statements :

Statement I : Quantitative research lays emphasis on the generalisability of findings.
Statement II : Probability sampling does not generate a representative sample.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

1

(2 2

3) 3

) 4




e pyafeuug -

S 1 - GRATOTAS e GROmET (Fsah) B GHraaRuigd R ad ol ¢ |
Y 11 : U1 faaa 9§ $is ufaffs ufdes Tef Saa gidig |
JWRIET DU & 3Tl H, Aid faU 78 fadhedi § 9 Ygl 3R &I 99+ IOl ;

1. BYTIIR IS I g
2. HYTI AR I EHT 3T §
3. HYTI I ¢, AP BUTII 3 A ©
4. YT IET ¢, AfPT PUT I TA &
@ 1
() 2
(3) 3
4) 4

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]

Sl. No.115
QBID:1201015

Given below are two statements :

Statement I : In probability sampling, it is not necessary that all the members of population have an equal
opportunity to be the part of the sample.

Statement II : Non probability sampling method is not a fixed or predefined selection process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true
1) 1
(2 2
(3) 3
4) 4

el pyafiuug

HYA [ : UTihdl Uiada- H I8 3193F el o 1 oHa@ & 94t Texdi I ufde § 994 9 4 id gH
BT AW U ol |

HYT 11 : TR-FIEar Uia=aT [afe ue (9T srar gd-uRHIYd 9a- Hishdr 1e1 ¢ |

IR HU b 3Tl H, Fid ST MU fabedi & 9 gl IR &l 999 Hifofu ;

1. HYTIAR IS I &
2. HYT AR I AT 3T §
3. HYTIA 6. dfbT YT I 3T &
4. YT T ¢, AfPT PUT I A &
1) 1
2) 2
3) 3
(4) 4

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]

Sl. No.116
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Language for communication is a product of :

1. Laboratory simulation
Religious affiliations
Everyday life

4. Elitist preference

1) 1

) 2

3) 3

(4) 4

HUNor & fere yiw fAgifed | 9 feogdT teh Iare (aiRon) g 2

1. JARTRITET {00
2. e[ TaeH
3. e Sia

4. 3T adiad

1) 1
(2) 2
(3) 3
(4) 4

2.
3.

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]

Sl. No.117
QBID:1201017

By creating a bunch of expectations, mass media induce which of the following among audiences:

1. Professionalism

2. Preference for corrupt practices
3. Political positivity

4. Self-fulfilling prophecy

1

() 2

(3) 3

(4) 4

%?ﬂgT&ﬁawﬁaﬁdwﬂ(ﬁwﬁwﬁubwdaqwIﬂﬂﬁﬂﬂﬁﬁﬁ%ﬂnEﬁ$ﬁﬁﬁﬁﬁﬁﬁﬁﬁ$ﬁfﬁﬁ$mﬁﬁa
DPAB 2

1. ATl

2. Y¥ HdgRI gd adgdr

3

SIS HRIESB]

1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]

Sl. No.118
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Human communication involves which of the following factors ?

A. Building symbols

B. Using symbols

C. Manipulating symbols
D. Exclusion of Culture
E. Non-use of symbols

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.C,D and E only
4. A, CandE only

1)1
(2) 2
(3) 3
(4) 4

g GUN0r § FEfaiad &HF-9 SRS MHA 8 g 2

A. di®! &1 A & |
B. Ydiichl &1 TN AT |
C. Udich] BT g3-UR

D. WH{d BT 3Tqei

E. Uciibl BT TR-YART

i fau U A el | 9 Ul IR &l 99 Hiflu ;

1. $Fdd A, B, 3R C
2. $Had B, C, 3[R D
3.%ddC, D, 3R E
4. FaA A, C, 3RE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=469]
2[Option ID=470]

3[Option ID=471]
4[Option ID=472]

Sl. No.119
QBID:1201019

Given below are two statements :

Statement I : Communicative language is the means of transmission of our values and social norms.
Statement IT : Language defines and communicates the world around us.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

1

(2 2

3) 3

4) a




e pyafeuug -

DY T : GUTUTED HIN SHR Hedl Td AT AHG] & gedl=R0l ST T |
HYT 11 ; HINT GHR 3T-YI ] g /=11 &bl URHINT Td ST Bl ¢ |

JWRIGd HY & 3MTcll H, =i fGT MU [dhetl H T Agt IR &1 981 DI :

1. PUFIR NG 9 g

2. FYF AR M aHI T §

3. HUTITA B, A P I A
4. FYT1 3T ¢, Afhd FUT 1 T g

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]

Sl. No.120
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Given below are two statements :

Statement I : Communication can create a 'feel good' factor among receivers.

Statement IT : Communication can be used as an instrument to divide and alienate the receivers.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4) 4

BIERACAIC AR U

HY L : YOI Ui # <@g Hf (PIATs) PRE I $R bl g |

DY 11 : HUNUT BT IYFNT UTtdebeli 31l bl dlc Ud GR DR g Uob HIY o &Y H bl off Febell G|
SWRIGd BYF b 3Tl H, i< ST Y [dbedi # 9 Ggl 3R &1 99 Hifoig :

1. HYFIMRISH Id g

2. FYTI AR M aH! T §

3. HUT 1 TA ¢, Afbd U 11 3T
4. FUTI I ¢, AP FUA T TH §

11
) 2
(3) 3
(4) 4

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]

Sl. No.121
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Consider the series given below :
=830 2- 8,15, P55 (),

The values of P and Q i.e. (P.Q) are

5.5 0.5 4 5P 50

P 3R Q & A 314d (P, Q) RTBI?

2 D =

g

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=481]
2[Option ID=482]

3[Option ID=483]
4[Option ID=484]

Sl. No.122
QBID:1201022

10 persons can cut 7 trees in 14 days. In how many days can 16 persons cut 12 trees?

1. 16 days
2. 13 days
3. 15 days
4. 12 days

1) 1

(2) 2

(3) 3

(4) 4

10 fa 7 U8 @ 14 f&1 & H1e UPhd ¢ | 16 3fad 12 Ui &l fbaq [l § dre adbd ¢ 2

ot
—_—
h e O

=
]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=485]
2[Option ID=486]

3[Option ID=487]
4[Option ID=488]

Sl. No.123
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The average age of a family of 5 members, three years ago, was 17 years. Inspite of the birth of a child in the
family during these 3 years the present average age of the family remains the same. What is the present age of
the child ?

. 2 years
. 3 years
. 2.5 years
. 3.5 years

1)1
(2) 2
(3) 3
(4) 4

i oy gd 5 gl & U URaR &l 2{1d 3y 17 a¥ i g diH a9 &l s A URAR At s b STH D
gTd Yl YRAR &1 IdHM 31d 1] dgl a1 g4l ¢ | 9= &I aadH A Al g 2

ay
ay
say

ay

LUV o I

B

[ o I
[T ]
LN

U b

.
tn

1) 1
(2) 2
3) 3
4) 4
1[Option ID=489]
2[Option ID=490]

3[Option ID=491]
4[Option ID=492]

Sl. No.124
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Find a single discount equivalent to two successive discounts of 10% and 20%.

L R e R
[
oo
(=]
=1

=
N
°

(1) 1
(2) 2
(3) 3
(4) 4

10% 3R 20% P1 Gl hiHP Fel &b aRIa Uhd Fe J1d P ;

-

b b =

[FUT N T

th © 00 -]
oy

© © o

s

o]

=
==

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=493]
2[Option ID=494]

3[Option ID=495]
4[Option ID=496]

Sl. No.125
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A person walks 30 meters North, then turns right and walks 30 meters. He then turns right and walks 45 meters.
Then he turns left and walks 15 meters. Again he turns left and walks 15 meters. In which direction and how far

1s the person from his starting point ?

.45 meters, west
. 35 meters, east
. 35 meters, west
. 45 meters, east
1)1
(2) 2
(3) 3
(4) 4

Ueh Afe 30 Hiex IR D 3R Fafdl . e a1t 3k Y51 & 3R 30 Alex Iadi 8 | I8 fthe arfe+it 3k
Hgdl g HR 45 Hiex Iadi ¢ | i 98 91t 3R J8dl ¢ 3R 15 Wik 9ddi ¢ | UhdR R 91 iR gedi g
3R 15 Hiex Tadr g | 39+ AR fog O oufad fvat X SR fha fazn # g

.45 Hiex, ufgw
.35 Hiex, ud
.35 HleR, ufgH
.45 Hiex, gd

11
(2) 2
3) 3
(4) 4

LUV o

B

L O R

N

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]

Sl. No.126
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Which informal fallacy is committed in the following statement - "Of course you want to buy XYZ toothpaste.
There must be a reason, why, 90 per cent of India brushes with XYZ toothpaste"

1. Slippery slope
2. Hasty generalization
3. Argumentum ad populum
4. Strawman Fallacy
1) 1
(2 2
(3) 3
(4) 4

FRIRIT U= H BT SRS Th-aly g - 319 g U U XYZ TUUE BT HA1 =6d ¢ |
Hffeb [l HRUGRN HRA H 90 W= AR XYZ TYURT Y §=T B 6 2

1. Thegad eaM (Raudl %)
 Hfq=rt g
RGIEAREERIEN]
4. 9T Gl (TR deb-aIy
1) 1
) 2
(3) 3
4) 4

(S

1[Option ID=501]
2[Option ID=502]
3[Option ID=503]
4[Option ID=504]

Sl. No.127
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Which of the following statements is logically equivalent to the statement - "All women are honest human
beings"

Some women are non-honest human beings.
Some honest human beings are women.
Some women are honest human beings.

4. No women are non-honest human beings.
11

2 2

(3) 3

4 4

fFrafifad & 3 S suA difbs 99 59 HYT $ 994 © -« Afgant SAreR AFa § 1

1. % AgAY IR-SAMGR AFA § |
2. PP HFER HHd Afgan g |
3.@%@@?@ Tl
4, ®is i ARG TR- SHMCR AFd 78l § |
1) 1
) 2
(3) 3
4) 4

1
2.
3.

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]

Sl. No.128
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Which of the following statements is contradictory to the statement - "Some birds are mammals"?

. Some mammals are not birds.
. Some birds are not mammals.
. Some mammals are birds.

. No birds are mammals.

11

(2) 2

(3) 3

) 4

AT & A I8 DU 38 HU - P Ul TIURI § 1 1 A 82

1. O WU, Tel AT e |
2. 9o Ul THURI g1 © |
3. D WHYRT, 9eft § |

4. @5 1l &l U 7T g |

1)1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]
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immediately inferred to be false?

1. All animals are birds.
2. No animals are birds.
3. Some animals are birds.
4. Some animals can fly.

If the statement - "Some animals are not birds" is given as false, then which of the following statements can be




(1) 1
(2) 2
(3) 3
(4) 4

ie S IR - “Ho U Ul T8l 8~ Pl A & wU H feur 71 g dl Ferfafad # 9 fog dyd s ar d
AT Ticid FY Y 3 Gl BT A [l S ghal1 g 2

1. oo uefi § |
2. 18 it g el T |
3. PO UYUER T |
4. DB UY IS Yhd g |
o 2
3) 3
(4) 4
1[Option ID=513]
2[Option ID=514]

3[Option ID=515]
4[Option ID=516]
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Given below are two statements :

Statement I : Indian logic treats induction and deduction as separate processes.

Statement II : Indian logic does not reject the verbalist view of logic.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

BIEECAIC AR U

DY T : HRATT Th AR AT 3R FATH B 9o Wb ad AT § |

HYT 11 : R TR, THRIR D e PHIUN Bl [FRE -6l HRAT G |
JWRIGd HY & 3l H, A AU MU fdh el H 9 a8 Iugad IR DI 99+ DIy :

1. YIRSl Ul o
2. FUTIAR M EHI Tad &
3. HYF [ el g, dibd U I &
4. FUT 1A g, Al YA 11 el &

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]
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An Indian company designs a mobile application to process staff records. In each record, 10 bits are used to store
staff ID and 20 bytes are used to store staff names. How many staff records can the mobile application support?

Ui ba =

| S T o T N T ]
e b e
[ ] { =]

[ ST )

e

1)1
(2) 2
(3) 3
(4) 4

Uh HRAIT DUl P & NGl I JIied H & [T Aldd TEhRH &l 3iHded dUR Hdl ¢ |
U 3HYeRd H wI% & UgdH YA & HSRUI & AU 10 [de 3R ®IH & M J994 & o8 20 d15¢ BT YIRT
fParSIar g | I 9a1¢ fh AieEd Tkiid e | fdhaq 7Th &, Afed iafdy sl I@d & -

—
[
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—
[ Be]

[ T S T S R o |
(5] =
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B

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=521]
2[Option ID=522]

3[Option ID=523]
4[Option ID=524]
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The action of sending text messages to fraudulently obtain another person's Bank details is called:

. Phishing

. Pharming

. Spamming
. Smishing

1

) 2

(3) 3

(4) 4

DHYCYdP bl 3= Al DI dehDbRI RT U DR o (1T TSI H=T U - Pl feba dgardl 6 ;

1. TR IRAT

I

T
4. WIRAT

1) 1

2) 2

3) 3

4) 4

b I =

=
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1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]
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What are the main benefits of using an SSD rather than an HDD?

A. SSD uses spinning disks and is thus more reliable.
B. SSD is considerably lighter and has a lower power consumption.
C. SSD accesses data considerably faster.

Choose the correct answer from the options given below :

1. A and B only
2. Aand C only
3. B and C only
4.A,Band C

1

(2 2

(3) 3

(4) 4

HDD &1 §oiTd $SD Wil R+ & {3 A4 1 G -

A. SSD H guiq dfchep (U &%) BT UTNT 8Idl & 3R 39 UbR Ug (P f[dya-ia g |

B. $SD dgd 3 gebl gldl ¢ 3R 3GH f[dggd &l dH @I BIdl © |
C. SSD H §gd duil 9§ &< (STel) ®I HRH I ¢ |

Hid fau e fasedi | I gl 3R &I 904 DI ;

1. $9d A 3R B
2. Fad A 3R C
3. HFAAB 3R C
4. A, B3R C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]
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Match List I with List IT

LIST I (Statement) List IT (Value)
A [Number of bytes formed from 8 bits IL |6
B. [Base-10 (denary) value of the binary number : 110 | II. |4
] If there are 2F bytes in 1 mega byte, then what 1s mr
ithe value of P ?
IAn ISP company advertises its broadband download
D. speed as 128 mega bits per second. How many 4- v bo
imega byte files can be downloaded per second
using the company's broad band?

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II
2. A-II, B-1. C-IV, D-1I1
3. A-III, B-1. C-IV, D-II
4. A-IV. B-I11. C-1. D-II

(1) 1

) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 @) “1;;,]}1
A | s foe 4 A age @ 9= L| 6

B. |Gyl T 110 BT §9-10 GMYRH A | IL | 4
;ﬁlmﬁfﬁﬂﬁi’%’?ﬁpﬁﬂﬁﬁzﬂ s g

Dl ATZUHY! BUAT 0 G910 J adrl &
b Sg@ dled e Sre-als Wis 128 AMfae
D. Ufd YPUs & df HUl & slsss &I W d IV. | 20
U UHUS 4 TTERe & [dd-] Bl
SI3-dIs @ W HEal & |

frgfafad faeedl J O 98l ST &1 94 SIfu -

1. A-ITT B-1V, C-1, D-IT
2. A-II, B-1, C-1V, D-III
3. A-IIT, B-1, C-IV, D-1I
4. A-IV, B-11, C-II, D-II

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=533]

2[Option ID=534]

3[Option ID=535]
4[Option ID=536]
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Given below are two statements :
Statement I : Entries in blogs are organized from most recent to least recent.

Statement II : Hits are the number of occasions where key words in a search engine match up with
websites/web pages.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4) 4

e pyafeuug -
HYF 1 : s H ufafPal o1 faury gaifie 99 U 3egadd a4 & $H | fhar oTdi g |
HUT 11 : Tl O 35 & F1-9S 31 e Ria- IR dewrge / d9uet & w1y gafd eidl ¢ 98 fée deard

=4

In the light of the above statements, choose the correct answer from the option given below :

1. HYT IR PYTIEH T § |

2. FYFI AR HUA I I A § |

3. HFYF 1A g Albd PYA T A © |
4. FUFI NI AP FUHA I TG |

1) 1
() 2
3) 3




(4) 4

1[Option ID=537]
2[Option ID=538]
3[Option ID=539]
4[Option ID=540]
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Given below are two statements :

Statement I : Most of the hazardous landslides are induced by earthquakes.

Statement IT : All landslides involve falling of earth material under shear stress.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

(4) 4

CIERAEZIC A G

DY : YD TARAID Yo, Yebul ¥ HURTBIA © |

DY 11 : GHT HEEAA! H YT §1d & S d H-AHE & [TRAT Ul Sl g |
SIS HY & 3MTcllp H, =i [T MY fdhetl # T A5t IR &I 981 DI :

1. PYT IR I ad 8
2. HYF AR I GHT AT g
3. HYT I §. A BYT 11 3 A ©
4. YT AT . AfPT YT I TA &
1) 1
() 2
(3) 3
4) 4

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]
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Given below are two statements :

Statement I : It is relatively easier to monitor and regulate water pollution caused by nonpoint sources than point
sources.

Statement II : Nonpoint sources of water pollution may be fairly uniform and predictable throughout the year.
In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4




e pyafeuug -

DY 1 : fdg Fidl &1 U IR-fdg (1 Wige) Tidl ¥ 3@d g didd oid UGl & (RHET (@ Hier) ud
[RIZT0T SBRAT SUENPHd AR § |

DY 11 : STAUGH & TR-fdg (A1 Wige) Fid gui =08 U HM 3R g a8 Ydi-Hg g1 9hd g |
SWRId DY b 3Tl H, 1 fT U fdhedi # 9 Ggl 3R &1 989 iy :

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYT I 6. dfbT YA I 3T &
4. FYTI I G, AfPAFUT I I ©
1) 1
2) 2
3) 3
4) 4

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]
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Given below are two statements :
Statement I : By 2025, two-thirds of world's people will be living in water stressed countries.

Statement II : Growth of water withdrawal and consumption in Industrial sector is going to overtake that in
Agriculture sector by 2025.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

(4) 4

BIECIERIE LRI

HY 1 : fa8 SRiRE & al fders dT ay 2025 dF, STd-3HIaUd ol A | I ol |

DY 11 : AP & H Sa-Gle1 (MbRi) 3R 39 IuHNT H dfs. 99 2025 db HiNa H glard Iuar]
Y 3{iedm g oGl 6 |

IRIFI HU D 3Tl |, i faU MU fabed] & 9 el IR DI 999 HIfU ;

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYTI I g, Al BUTII 3 A ©
4. FYTI I G, AfPAFUT I I ©
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=549]
2[Option ID=550]

3[Option ID=551]
4[Option ID=552]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Kyoto Protocol exempted countries such as India and China from rolling back their Greenhouse
Gas emissions by about 5% below 1990 levels by 2012.

Reason R : Exemption was given to India and China as their contribution to total Green House Gas emissions of
the world was insignificant in 1997.

In the light of the above statements, choose the correct answer from the options given low :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R 1s false
4. A s false but R is true
)1
(2 2
(3) 3
(4) 4

19 ST P AW § - U SHHBHU (Assertion A) B &Y H [dRId § Al GERT 3HD PHRUT (Reason R) B &Y
ff.

AFUDHYA A : I UIIDId U HRA AR = oY <=1 Bl 39 gRI 6T & ard gRd T (UH 8139) 19
Il H ay 2012 T, 1990 & TR U 5% A< B [T S o Hafel H Fe e ot |

PRI R : HRd HR = DI dg Fe SHIT Uar $i i 20t Fiifeb 9% o1 o R g 19 I H 37
TG 9N 1997 H 9gd HH (Hgdol) oI |

JURIS HY-T & 3Tl |, i fGU U fddhedi # I A5t 3R &1 991 DIy -

CASRRIFAIIT S 3R R A DI ol ARAT &
 AJRR NI T, AfBTR. AP Gl ARAT ST ©
AT g, dfPIR 3T ©

AEI T, APIRIA T
1) 1
() 2
3) 3
(4) 4

L O R

i

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]
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Sources of heat of geothermal energy are

A. Radioactive decay of unstable elements
B. Nuclear fusion

C. Magma

D. Temperature gradient inside earth

E. Oceanic circulation

Choose the correct answer from the options given below :

1. A, Band C only
2.B, C and D only
3. A, Cand D only
4. C,D and E only

1

(2) 2

(3) 3

(4) 4




YA ol BT I H Hid g -

A. IR Il D1 ASTElhT &g
B. ¥ Jag

C. HH

D. Jedl & 3f-<X dTqHT Ygurd]

E. HeITRIY Ikl
I 3T 71U [agadl # O el IR &1 994 Do :

1. FGd A, B3R C
2. $Had B, C 3R D
3. Fad A, C 3R D
4. $adC, D3R E

(1)1
) 2
(3) 3
(4) 4

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]
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According to NEP 2020, which of the following will not be the function of National Educational Technology
Forum (NETF) ?

. To envision strategic thrust areas in educational technology

. To build intellectual and institutional capacities in educational technology

. To provide grants for setting up educational technology centers in central government institutions
. To articulate new directions for research and innovation in educational technology.

L R

.

(1)1
) 2
(3) 3
(4) 4

Tt fR1& A 2020 & STER, FafaRad # 9 SH-91 AP Aldib YIB! BRA (TR 1U%) BT SR T8l
BT 2

1. QI&ffOreh YIeifiept # Ui Wi & W faaR &1 |

2. Qeffores Wienfiiest | dlfgd vd GeuiHe mdisi &1 i B |

3. Do ERXHRI G H aifred Uit Sl b1 R B g S S |
4. Qeffore Ureniiest § /MY Ud 7aT€R 3q A4 FRi &1 oaReat a1 |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]
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National Skill Qualification Framework (NSQF) is a competency based framework that organizes all
qualifications according to a series of levels of

A. Knowledge
B. Understanding
C. Skills

D. Attitude

E. Aptitude

Choose the correct answer from the options given below :

1.B,D and E only
2. A, CandE only
3.B. C and D only
4. A, B and D only

1

() 2

(3) 3

4) 4

Y1 IS Il shHdh (TTUHRIUD) Uh &N TR hHdD ¢ Sl b, FMuifhd oy &R &t g &
TR Gl Arsfi 1 Gifdd ddi g |

A QA

B. §HA
C. PRI

D. 3ffHafx

E. 3fI¥&dr

i 3T 7Y fdep el | 9 96 Iugdd IR &I 99 Bifog :

1. $ad B, D, 3R E
2. FAd A, C, 3R E
3. Had B, C, 3R D
4. A A, B, 3D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=565]
2[Option ID=566]

3[Option ID=567]
4[Option ID=568]
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What is the full form of NHERC?

. National Higher Education Review Council
National Higher Education Repository Council

. National Higher Education Regulatory Council
National Higher Education Regulatory Complex

LI S I

=

1) 1
(2) 2
(3) 3
(4) 4
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4. A TR TG h I WA dlirddy

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=569]
2[Option ID=570]
3[Option ID=571]
4[Option ID=572]
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Who among the following gave us the names of the twelve divisions of the solar zodiac and whose calculation of
the earth's circumference was not off the mark?

1. 18varakrsna

2. Aryabhata

3. Bhaskaracarya
4. Brahma Gupta
1

(2) 2

3) 3

(4) 4

afaRad # 9 fa 9R AR (@R Sifeae) & 12 YT &1 AHSR0] fhar 3R S gRI S Tt gedi o
GRS 1 701 9 giH & e ot 2

1. R
2. 3Ye

3, YRHIET
4. SIgHT

1) 1

(2) 2

3) 3

4) 4

1[Option ID=573]

2[Option ID=574]

3[Option ID=575]
4[Option ID=576]
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Following the recommendations of which of the following Committee the Central Advisory Board of Education
(CABE) was revived in 1935 ?

1. S H. Wood Cominittee
2. Hartog Committee
3. Wood-Abbot Committee
4. Sadlar Committee

11

(2) 2

(3) 3

4) 4
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1. U9, U9, 43 |fafd (eHd)
2. greiv gfafd
3.93 - Udic gfafd
4. YSer giifd
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=577]
2[Option ID=578]

3[Option ID=579]
4[Option ID=580]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

“f= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Ui dae sfcr famsid - serid SR & &R afftdaun o1 o dig sirei=H1 & forg f[qweand ¢ |
SYPT (IR 39, 21801, SHo7l 9 | uRded d@ U1l S & Uaa-d & WHIa! Bl [diaiaul R diiE
ST & FAHRUVGE I ABR AT i 3R Ioifa® wHdl & Te, 1 961 ¥ | 3791 a7
BR HHIAIRAET H ID1 3 SATeia-1131 BT R Ukdd (a1 741 g d Aei-lidd =P & HeH oY - Sl
o fq-TIgRited Tredi & gAHamT & U § Saiferd 3 | 3 g9 (o fq-iexiiedr Wsa widaried foar |
g gD HD PIel &b IUUER & FY H ATeqH1 & 1 ferdl 1t At | 39 Uies ¢ 4R g 2t fs
[IYe TG BT IAd TR (B! YHIS H IHD ¥4 o [d-11=] o] HReb Ual BRI © | 37| H¥d AR
IdIG & e Iadre dfd d Hdferd ot | 3% 2edl & 41 &gl fb U fdg & a1 sfienfis
JUDHU S 3R UGidRUT bl &ifd =TT | Yol Wdlsdl H 3ol & Glg- & 1Y HIferd e o1 ¥dd &R0l
RY 1T | SHP ATal GO 3R RM & diesnvl I 34 3R 9 [ off e wifd & 9y ad gaf
| ST 2rdred] # 9= d I & IuHRu ol UIelfihdl & gt 8 GATS H1 YEeiRE-1 o1 SR guf
g |

What was the criticism of Illich on expert-based institutions?

1. Non-professionalism in sectors like medicine and transport
2. Too much expertise in the field of education
3. Adverse effects of feminization of work
4. Danger to economic progress.
1) 1
() 2
(3) 3
4 4
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1. 3{NiE 3R ulkded oY &F] § TR-saraariaed
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=581]
2[Option ID=582]

3[Option ID=583]
4[Option ID=584]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

A= fou 7Y Tefie 1 ufeu 3R Y DT Iugad IR aiford ;

gfafRd oad sford IRy - SMeTid SR & &ifdd AT P 391 T M= & fore fdend © |
SUPT AR 3ATe, R1af, 3oll U A= iag- db Ul BT & Yaad & UHTE! B [aiadadol 3R dfT®
oS & IIAIBRUIAGE J A AfGarTd i 3R IsHITa® S5l & Gg, 1 el 4 | 391 s 7
BR AT T 3BT 3 a3 BT YR Udd (a1 741§ d Aiidd =P & He oY - Sila
o [aTieRiTe H1erH! & YAHHTUN & U H Wi o | 3gi- 39 (oY fa-ie=iidaar 2rsg widaridd o |
g G D Plel b SUHER & FY H SATH=d & A1 ferdl Tt 4t | 38 Uiy ¢ YR 4g 4 fb
fagd ITe BT 37d <RI fob il IS H I T o [A-1=1 &1 HReb U Bl © | I7D! BT HTURUN
IdIGH & A e Afd O afed i | 3% Egar & 91 &gl (b U fdg & a1 Sfeliie
JUHRU S R UidR0T bl &ifc =Tl | Fogdi Qdlsd] H 3ol & GIg- & J1 Jled e o1 Fdd &R0l
R TR | SHP ATl GO 3R RIM & G0l Y 34 R g 1 oif A Hifd & 91y gad gof
| ST 2rcTsdl # [aRigd T & USRI ol UIEiih ! & JgaiT o GATS H1 GU=-1 61 B gui
g |

His critiques were set in the context of:

1. Global historicity
2. Convivial modes of living
3. Self-degradation
4. Ethical norms
1
(2 2
3) 3
(4) 4




3% gATAEAE feg dey 7 off 2

L. S ey
2. Sitad &1 faaieeia Jfaar
3. ¥9-3{dhHU
4. Afq®d ArFcs

1) 1

) 2

(3) 3

4) 4

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]

Sl. No.148
QBID:1201048

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.
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What did Illich foresee in his book ?

1. Industrial Society's self-destruction.
2. More scope for mass production
3. Arrival of advanced industrial society
4. End to all struggles in the world

1) 1

(2 2

(3) 3

(4) 4




i = 37Ul g H fhgept gaiaur foar o1 2

1. 3TN 99T o1 W-faare
2. fqget I@reT &1 3iftid GHIGg
3. 39d NS THN &7 SHTHA
4. fay & gaft dusf &1 3id

1) 1

) 2

(3) 3

4) 4

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.
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The consequence of Industrial Revolution are :

A. Damage to environment

B. Restricted use of energy

C. Conquest of time and space
D. Minimal use of resources.

Choose the correct answer from the options given below :

. A and B only
.Band C only
C and D only
.Aand C only

d= W b =




1) 1
(2) 2
(3) 3
(4) 4

STEfiTep shifcr & URUMA§ 2

A. TR0 B Gl

B. 3uil @1 ufqsfed o

C. 979 3R WH Pl fasy

D. 14T T ATH ST

Hid fau T fadhedi H I Tol 3R &I 98- DIIU :

1. Fad A 3R B
2. HadA B 3R C
3. $Had C 3R D
4. FaAA3MRC

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=593]
2[Option ID=594]
3[Option ID=595]
4[Option ID=596]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.
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The inference from the passage is that:

1. Specialized expertise is absolutely essential.
2. An industrial society is a welfare society.
3. Conviviality should have its own limits.
4. Industrialization is highly beneficial.
1) 1
) 2
3) 3
(4) 4
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) 1

(2) 2

(3) 3

4) 4

1[Option ID=597]
2[Option ID=598]
3[Option ID=599]
4[Option ID=600]




